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✭❉✉ré❡ ✿ ✻ ❤❡✉r❡s✮

▲✬✉s❛❣❡ ❞❡ ❝❛❧❝✉❧❛tr✐❝❡s é❧❡❝tr♦♥✐q✉❡s ❞❡ ♣♦❝❤❡ à ❛❧✐♠❡♥t❛t✐♦♥ ❛✉t♦♥♦♠❡✱ ♥♦♥ ✐♠♣r✐♠❛♥t❡s ❡t s❛♥s ❞♦❝✉✲

♠❡♥t ❞✬❛❝❝♦♠♣❛❣♥❡♠❡♥t✱ ❡st ❛✉t♦r✐sé✳ ❈❡♣❡♥❞❛♥t✱ ✉♥❡ s❡✉❧❡ ❝❛❧❝✉❧❛tr✐❝❡ à ❧❛ ❢♦✐s ❡st ❛❞♠✐s❡ s✉r ❧❛ t❛❜❧❡

♦✉ ❧❡ ♣♦st❡ ❞❡ tr❛✈❛✐❧✱ ❡t ❛✉❝✉♥ é❝❤❛♥❣❡ ♥✬❡st ❛✉t♦r✐sé ❡♥tr❡ ❧❡s ❝❛♥❞✐❞❛ts✳

▲❡ s✉❥❡t ❝♦♠♣r❡♥❞ ✶✹ ♣❛❣❡s ♥✉♠ér♦té❡s ❞❡ ✶ à ✶✹

⋆ ⋆ ⋆

❉ét❡❝t✐♦♥ ✐♥t❡r❢ér♦♠étr✐q✉❡ ❞✬♦♥❞❡s
❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s

▲✬❡①✐st❡♥❝❡ ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s ❛ été ♣ré❞✐t❡ ♣❛r ❧❛ t❤é♦r✐❡ ❞❡ ❧❛ r❡❧❛t✐✈✐té ❣é♥ér❛❧❡✱ ❢♦r♠✉❧é❡ ♣❛r
❊✐♥st❡✐♥ ❛✉ ❞é❜✉t ❞✉ ❳❳e s✐è❝❧❡✳ ❈❡s ♦s❝✐❧❧❛t✐♦♥s ❞❡ ❧✬❡s♣❛❝❡✲t❡♠♣s ♦♥t été ❞✐r❡❝t❡♠❡♥t ♦❜s❡r✈é❡s ♣♦✉r
❧❛ ♣r❡♠✐èr❡ ❢♦✐s ❧❡ ✶✹ s❡♣t❡♠❜r❡ ✷✵✶✺ ♣❛r ❧❛ ❝♦❧❧❛❜♦r❛t✐♦♥ s❝✐❡♥t✐✜q✉❡ ▲■●❖✱ ✏▲❛s❡r ■♥t❡r❢❡r♦♠❡t❡r
●r❛✈✐t❛t✐♦♥❛❧✲❲❛✈❡ ❖❜s❡r✈❛t♦r②✑✳ ❆✉✲❞❡❧à ❞✬✉♥ t❡st ♣♦s✐t✐❢ ❞❡ ❧❛ t❤é♦r✐❡ ❞❡ ❧❛ r❡❧❛t✐✈✐té ❣é♥ér❛❧❡✱ ❧❡✉r ❞é✲
t❡❝t✐♦♥ ❛ ♠❛rq✉é ❧❡ ❞é❜✉t ❞✬✉♥❡ ♥♦✉✈❡❧❧❡ èr❡ ❡♥ ❛str♦♥♦♠✐❡✱ ♥♦✉s ♣❡r♠❡tt❛♥t ❞✬♦❜s❡r✈❡r ❧✬❯♥✐✈❡rs à ❧✬❛✐❞❡
❞❡ r❛②♦♥♥❡♠❡♥ts ♣❤②s✐q✉❡♠❡♥t ❞✐✛ér❡♥ts ❞❡s r❛②♦♥♥❡♠❡♥ts é❧❡❝tr♦♠❛❣♥ét✐q✉❡s ✭❧✉♠✐èr❡ ✈✐s✐❜❧❡✱ ✉❧tr❛✲
✈✐♦❧❡tt❡ ♦✉ ✐♥❢r❛r♦✉❣❡✱ r❛②♦♥s ❳ ♦✉ ❣❛♠♠❛✱ r❛❞✐♦❢réq✉❡♥❝❡s✮ ♦✉ ❞❡s r❛②♦♥s ❝♦s♠✐q✉❡s ✭♥♦②❛✉① ❛t♦♠✐q✉❡s
❡t ♣❛rt✐❝✉❧❡s ❞❡ ❤❛✉t❡ é♥❡r❣✐❡✮✳

❈❡ s✉❥❡t ♣rés❡♥t❡ q✉❡❧q✉❡s ♣r♦♣r✐étés ❞❡s ♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s ❡t ❞❡s ✐♥str✉♠❡♥ts q✉✐ ♦♥t ♣❡r♠✐s ❞❡ ❧❡s
❞ét❡❝t❡r✳ ■❧ ❡st ❝♦♥st✐t✉é ❞❡ tr♦✐s ♣❛rt✐❡s ✐♥❞é♣❡♥❞❛♥t❡s✳ ▲❛ ♣r❡♠✐èr❡ ♣❛rt✐❡ s✬✐♥tér❡ss❡ à ❧❛ ♣❤②s✐q✉❡ ❞❡s
♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s ❡t ❛✉① ❡✛❡ts ♦❜s❡r✈❛❜❧❡s q✉✬❡❧❧❡s ♣r♦❞✉✐s❡♥t s✉r ❚❡rr❡✳ ▲❛ ❞❡✉①✐è♠❡ ♣❛rt✐❡ ❝♦♥s✐st❡
❡♥ ✉♥❡ ♠♦❞é❧✐s❛t✐♦♥ s✐♠♣❧✐✜é❡ ❞❡s ✐♥t❡r❢ér♦♠ètr❡s ♦♣t✐q✉❡s q✉✐ ♦♥t ♣❡r♠✐s ❞❡ ❞ét❡❝t❡r ❧❡s ♣r❡♠✐èr❡s ♦♥❞❡s
❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s✳ ▲❛ tr♦✐s✐è♠❡ ♣❛rt✐❡ ♣❡r♠❡t ❞❡ ❞ét❡r♠✐♥❡r ✉♥❡ ❧✐♠✐t❡ à ❧❛ s❡♥s✐❜✐❧✐té ❞❡ ❝❡s ❞ét❡❝t❡✉rs
❧✐é❡ ❛✉① ✢✉❝t✉❛t✐♦♥s ❞✉ ♥♦♠❜r❡ ❞❡ ♣❤♦t♦♥s q✉✐ ② ❝✐r❝✉❧❡♥t✳

▲♦rsq✉❡ ❞❡s ❛♣♣❧✐❝❛t✐♦♥s ♥✉♠ér✐q✉❡s s♦♥t ❞❡♠❛♥❞é❡s✱ ✐❧ ❝♦♥✈✐❡♥t ❞❡ ❞♦♥♥❡r ✉♥ rés✉❧t❛t ♥✉♠ér✐q✉❡ ❛✈❡❝
tr♦✐s ❝❤✐✛r❡s s✐❣♥✐✜❝❛t✐❢s✳

✶



❚❛❜❧❡ ❞❡s ♠❛t✐èr❡s

✶ ◗✉❡❧q✉❡s ♣r♦♣r✐étés ❞❡s ♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s ✸
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✷ ❉ét❡❝t✐♦♥ ✐♥t❡r❢ér♦♠étr✐q✉❡ ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s ✼
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✸ ▲✐♠✐t❡s q✉❛♥t✐q✉❡s à ❧❛ s❡♥s✐❜✐❧✐té ❞❡s ❞ét❡❝t❡✉rs ✶✶
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✸✳✷ ❋❧✉❝t✉❛t✐♦♥s ❞❡ ❧❛ ♣r❡ss✐♦♥ ❞❡ r❛❞✐❛t✐♦♥ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✶✸
✸✳✸ ▲✐♠✐t❡ q✉❛♥t✐q✉❡ st❛♥❞❛r❞ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✳ ✶✸

❈♦♥st❛♥t❡s ❡t ❢♦r♠✉❧❡s ✉t✐❧❡s

❱✐t❡ss❡ ❞❡ ❧❛ ❧✉♠✐èr❡ c = 3,00× 108 ♠✳s−1

❈♦♥st❛♥t❡ ✉♥✐✈❡rs❡❧❧❡ ❞❡ ❧❛ ❣r❛✈✐t❛t✐♦♥ G = 6,67× 10−11 ♠3✳❦❣−1✳s−2

▼❛ss❡ ❞✉ ❙♦❧❡✐❧ ▼⊙ = 1,99× 1030 ❦❣
▼❡❣❛♣❛rs❡❝ ▼♣❝ = 3,09× 1022 ♠
❆❝❝é❧ér❛t✐♦♥ ❞❡ ❧❛ ♣❡s❛♥t❡✉r t❡rr❡str❡ g = 9,81 ♠✳s−2

❈♦♥st❛♥t❡ ❞❡ P❧❛♥❝❦ h = 2π~ = 6,63× 10−34 ♠2✳❦❣✳s−1

❈♦♥st❛♥t❡ ❞❡ ❇♦❧t③♠❛♥♥ kB = 1,38× 10−23 ♠2✳❦❣✳s−2✳❑−1

Pér✐♠ètr❡ t❡rr❡str❡ Lt = 40 000 ❦♠

cos2(x)− sin2(x) = cos(2x)

2 cos(x) sin(x) = sin(2x)

(1 + x)α = 1 + αx+
α(α− 1)

2
x2 +O(x3)

▲❛ ✈❛❧❡✉r ♠♦②❡♥♥❡ ❞✬✉♥❡ ✈❛r✐❛❜❧❡ ❛❧é❛t♦✐r❡ X ❡st ♥♦té❡ 〈X〉✳
▲❡ ♣r♦❞✉✐t s❝❛❧❛✐r❡ ❞❡ ❞❡✉① ✈❡❝t❡✉rs ~u ❡t ~v ❡st ♥♦té ~u.~v✳

✷



✶ ◗✉❡❧q✉❡s ♣r♦♣r✐étés ❞❡s ♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s

✶✳✶ ❉é❢♦r♠❛t✐♦♥s ❞❡ ❧✬❡s♣❛❝❡✲t❡♠♣s

Q1. ❯♥ ♠❛r❝❤❡✉r ♣❛rt ❞✉ ♣ô❧❡ ◆♦r❞✳ ■❧ ♣❛r❝♦✉rt ✶✵✵✵✵ ❦♠ ❡♥ ❧✐❣♥❡ ❞r♦✐t❡✱ t♦✉r♥❡ ❞❡ 90◦ à ❣❛✉❝❤❡ ❡t
♣❛r❝♦✉rt ❡♥❝♦r❡ ✶✵✵✵✵ ❦♠ ❡♥ ❧✐❣♥❡ ❞r♦✐t❡✳ ❉❡ss✐♥❡r s❛ tr❛❥❡❝t♦✐r❡ ❡t ❞ét❡r♠✐♥❡r ❧❛ ❞✐st❛♥❝❡ ♠✐♥✐♠❛❧❡ q✉✬✐❧
❞❡✈r❛✐t ♣❛r❝♦✉r✐r ♣♦✉r r❡✈❡♥✐r ❛✉ ♣ô❧❡ ◆♦r❞✳ ◗✉✬❡♥ ❛✉r❛✐t✲✐❧ été s✐ ❧❛ s✉r❢❛❝❡ t❡rr❡str❡ ét❛✐t ♣❧❛♥❡ ❄

Q2. ❯♥❡ s♣❤èr❡ ❞❡ r❛②♦♥ r = 1 ❡st ❞é❝r✐t❡ ❡♥ ❝♦♦r❞♦♥♥é❡s s♣❤ér✐q✉❡s ❤❛❜✐t✉❡❧❧❡s (θ,φ) ♦ù θ ❡st ❧❛
❝♦❧❛t✐t✉❞❡ ❡t φ ❡st ❧❛ ❧♦♥❣✐t✉❞❡✳ ▼♦♥tr❡r q✉❡ ❧❛ ❧♦♥❣✉❡✉r L ❞✬✉♥❡ ❝♦✉r❜❡ C ❞❡ss✐♥é❡ s✉r ❝❡tt❡ s✉r❢❛❝❡ ❡st
❞♦♥♥é❡ ♣❛r

L =

∫

C

√

(d~v).(g d~v), ❛✈❡❝ g =

(

1 0
0 sin2 θ

)

❡t d~v =

(

dθ
dφ

)

. ✭✶✮

❖♥ ❛♣♣❡❧❧❡ ❧❛ ♠❛tr✐❝❡ g ❧❡ t❡♥s❡✉r ♠étr✐q✉❡ ❞✬✉♥❡ s♣❤èr❡ ❞é❝r✐t❡ ❡♥ ❝♦♦r❞♦♥♥é❡s s♣❤ér✐q✉❡s✳ ❆ss♦❝✐é à
✉♥ s②stè♠❡ ❞❡ ❝♦♦r❞♦♥♥é❡s ✭✐❝✐ ❧❡s ❝♦♦r❞♦♥♥é❡s s♣❤ér✐q✉❡s (θ,φ)✮✱ ❧❡ t❡♥s❡✉r ♠étr✐q✉❡ ♣❡r♠❡t ❞❡ ♠❡s✉r❡r
❞❡s ❞✐st❛♥❝❡s✱ ❞❡s ❛✐r❡s ♦✉ ❞❡s ❛♥❣❧❡s ❞❛♥s ✉♥ ❡s♣❛❝❡ ❝♦✉r❜❡✳ ❙✐ ♦♥ ❞é❢♦r♠❡ ❝❡t ❡s♣❛❝❡✱ ❧❡s ❝♦♦r❞♦♥♥é❡s
❞❡s ♦❜❥❡ts r❡st❡♥t ❧❡s ♠ê♠❡s ♠❛✐s ❧❡ t❡♥s❡✉r ♠étr✐q✉❡✱ ❞♦♥❝ ❧❡s ❞✐st❛♥❝❡s ❡♥tr❡ ❝❡s ♦❜❥❡ts✱ ✈❛r✐❡♥t ✭✈♦✐r
❋✐❣✉r❡ ✶✮✳

B

A

B

A

Déformation

de l'espace

❋✐❣✉r❡ ✶ ✕ ❊✛❡t ❞❡ ❧❛ ❞é❢♦r♠❛t✐♦♥ ❞✬✉♥ ❡s♣❛❝❡ ✿ ❧❡s ♣♦s✐t✐♦♥s ❞❡s ♦❜❥❡ts A ❡t B s✉r ❧❛ ❣r✐❧❧❡ ❞❡s
❝♦♦r❞♦♥♥é❡s r❡st❡♥t ✜①❡s✱ ♠❛✐s ❧❛ ❞✐st❛♥❝❡ q✉✐ ❧❡s sé♣❛r❡ ✈❛r✐❡✳

▲❛ r❡❧❛t✐✈✐té ❣é♥ér❛❧❡ ♣ré❞✐t q✉❡ ❧✬❡s♣❛❝❡✲t❡♠♣s ❡st ❞é❢♦r♠é ♣❛r ❞❡s ♦❜❥❡ts ♠❛ss✐❢s✳ ❊♥ ♠♦✉✈❡♠❡♥t✱ ❝❡s
♦❜❥❡ts ♣❡✉✈❡♥t ❝ré❡r ❞❡s ♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s q✉✐ s❡ ♣r♦♣❛❣❡♥t à tr❛✈❡rs ❧✬❡s♣❛❝❡✲t❡♠♣s ❡♥ ❢❛✐s❛♥t
♦s❝✐❧❧❡r s♦♥ t❡♥s❡✉r ♠étr✐q✉❡✳ ❖♥ ♣❡✉t ♠♦♥tr❡r q✉❡ ❝❡s ♦♥❞❡s ♥✬✐♥✢✉❡♥❝❡♥t ♣❛s ❧❡s ♠❡s✉r❡s ❞✉ t❡♠♣s ♥✐
❝❡❧❧❡s ❞❡s ❞✐st❛♥❝❡s ❧❡ ❧♦♥❣ ❞❡ ❧❡✉r ❞✐r❡❝t✐♦♥ ❞❡ ♣r♦♣❛❣❛t✐♦♥✳ ❊♥ r❡✈❛♥❝❤❡ ❡❧❧❡s ♠♦❞✐✜❡♥t ❧❡s ❞✐st❛♥❝❡s
❡♥tr❡ ❧❡s ♦❜❥❡ts s✐t✉és ❞❛♥s ❧❡ ♣❧❛♥ tr❛♥s✈❡rs❡ à ❝❡tt❡ ❞✐r❡❝t✐♦♥✳

Q3. ❈✐t❡r ✉♥ ❛✉tr❡ ❡①❡♠♣❧❡ ❞✬♦♥❞❡s tr❛♥s✈❡rs❡s à ❧❡✉r ❞✐r❡❝t✐♦♥ ❞❡ ♣r♦♣❛❣❛t✐♦♥✳

❉❛♥s ❧❛ s✉✐t❡ ❞✉ ♣r♦❜❧è♠❡ ♦♥ s❡ ♣❧❛❝❡r❛ ❡♥ ❝♦♦r❞♦♥♥é❡s ❝❛rtés✐❡♥♥❡s ❞❛♥s ✉♥ r❡♣èr❡ Oxyz✳ ❊♥ ❛❜s❡♥❝❡
❞❡ ♣❡rt✉r❜❛t✐♦♥ ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡✱ ❧❡ t❡♥s❡✉r ♠étr✐q✉❡ ❞❛♥s ❧❡ ♣❧❛♥ Oxy s✬é❝r✐t s✐♠♣❧❡♠❡♥t

g(0) = 1 =

(

1 0
0 1

)

. ✭✷✮

❖♥ ❝♦♥s✐❞èr❡ q✉❡ ❞❡s ♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s é♠✐s❡s ♣❛r ✉♥❡ s♦✉r❝❡ ❧♦✐♥t❛✐♥❡ s❡ ♣r♦♣❛❣❡♥t s✉✐✈❛♥t ❧✬❛①❡
Oz✱ ❛❥♦✉t❛♥t ✉♥❡ ♣❡t✐t❡ ♣❡rt✉r❜❛t✐♦♥ h à ❝❡ t❡♥s❡✉r ♠étr✐q✉❡ q✉✐ ❞❡✈✐❡♥t

g = 1+ h =

(

1 0
0 1

)

+

(

hxx hxy

hyx hyy

)

, ✭✸✮

♦ù t♦✉t❡s ❧❡s ❝♦♠♣♦s❛♥t❡s ❞❡ h✱ s✉♣♣♦sé❡s ❞✉ ♠ê♠❡ ♦r❞r❡ ❞❡ ❣r❛♥❞❡✉r✱ s♦♥t très ♣❡t✐t❡s ❞❡✈❛♥t 1✳ ▲❛
❧♦♥❣✉❡✉r ❞✬✉♥ ❞é♣❧❛❝❡♠❡♥t é❧é♠❡♥t❛✐r❡

d~r =

(

dx
dy

)

❞❛♥s ❝❡ ♣❧❛♥ s✬é❝r✐t✱ ❝♦♠♠❡ ♣ré❝é❞❡♠♠❡♥t✱ dl =
√

(d~r).(gd~r)✳

✸



Q4. ❱ér✐✜❡r q✉✬à ❧✬♦r❞r❡ ✶ ❡♥ h

dl =
√

dx2 + dy2 +
(d~r).(hd~r)

2
√

dx2 + dy2
+O(h2) ✭✹✮

❉❛♥s ❧❛ s✉✐t❡ ❞✉ ♣r♦❜❧è♠❡✱ ♦♥ s❡ ♣❧❛❝❡r❛ t♦✉❥♦✉rs ❞❛♥s ❝❡tt❡ ❛♣♣r♦①✐♠❛t✐♦♥✳

Q5. ❖♥ s✉♣♣♦s❡ h ✐♥❞é♣❡♥❞❛♥t ❞❡ x ❡t y✳ ❙✐ ♦♥ s❡ ❞é♣❧❛❝❡ s✉r ❧✬❛①❡ Ox✱ q✉❡ ✈❛✉t ❧❛ ❞✐st❛♥❝❡ L ❡♥tr❡ ❧❡s
♣♦✐♥ts ❞✬❛❜s❝✐ss❡s x ❡t x+ L0✱ à ❧✬♦r❞r❡ ✶ ❡♥ h ❄

Q6. ❉❛♥s ❧❡ ✈✐❞❡✱ ❞❛♥s ✉♥ ré❢ér❡♥t✐❡❧ ❝♦♥✈❡♥❛❜❧❡♠❡♥t ❝❤♦✐s✐✱ ❧❛ ♣❡rt✉r❜❛t✐♦♥ h ❞✉ t❡♥s❡✉r ♠étr✐q✉❡ ♦❜é✐t
à ❧✬éq✉❛t✐♦♥ ❞✬♦♥❞❡

(

∂2

∂x2
+

∂2

∂y2
+

∂2

∂z2
− 1

c2
∂2

∂t2

)

h(~r,t) = 0 ✭✺✮

♦ù c ❡st ❧❛ ✈✐t❡ss❡ ❞❡ ❧❛ ❧✉♠✐èr❡✳ P♦✉r ❞❡s s♦❧✉t✐♦♥s ❡♥ ♦♥❞❡s ♣❧❛♥❡s✱ ❞♦♥♥❡r ❧❛ ✈✐t❡ss❡ ❞❡ ♣❤❛s❡ ❡t ❧❛ ✈✐t❡ss❡
❞❡ ❣r♦✉♣❡✳ ❉ét❡r♠✐♥❡r ❧❛ ❧♦♥❣✉❡✉r ❞✬♦♥❞❡ λ ♣♦✉r ✉♥❡ ♦♥❞❡ ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡ s✐♥✉s♦ï❞❛❧❡ ❞❡ ♣✉❧s❛t✐♦♥ Ω✳

P✉✐sq✉✬❡❧❧❡s ❢♦♥t ✈❛r✐❡r ❧❡ t❡♥s❡✉r ♠étr✐q✉❡✱ ♣♦✉r ❞ét❡❝t❡r ❞❡s ♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s ✐❧ ✏s✉✣t✑ ❞❡ ✈♦✐r ❧❛
❞✐st❛♥❝❡ ❡♥tr❡ ❞❡✉① s②stè♠❡s ✐s♦❧és ♦s❝✐❧❧❡r ❛✉ ❝♦✉rs ❞✉ t❡♠♣s✳ P♦✉r ❡st✐♠❡r ❧✬❛♠♣❧✐t✉❞❡ ❡t ❧❛ ❢réq✉❡♥❝❡ ❞❡
❝❡s ♦s❝✐❧❧❛t✐♦♥s ♦♥ ❞♦✐t r❡❧✐❡r h à ✉♥❡ s♦✉r❝❡✱ ❝✬❡st✲à✲❞✐r❡ à ✉♥ ❡♥s❡♠❜❧❡ ❞✬♦❜❥❡ts ♠❛ss✐❢s ❡♥ ♠♦✉✈❡♠❡♥t✳

✶✳✷ ❙♦✉r❝❡s ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s

❖♥ ❝♦♥s✐❞èr❡ ✉♥❡ s♦✉r❝❡ ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s ❝♦♥st✐t✉é❡ ❞❡ N ♦❜❥❡ts ♣♦♥❝t✉❡❧s ❞❡ ♠❛ss❡s m1,...,mN

❝♦♥st❛♥t❡s ❡t ❞❡ ♣♦s✐t✐♦♥s ~r1,...,~rN ❞é♣❡♥❞❛♥t❡s ❞✉ t❡♠♣s✳ ❖♥ s✉♣♣♦s❡ q✉❡ ❝❡ s②stè♠❡ ❡st ✐s♦❧é✳ ❖♥ s✉♣♣♦s❡
é❣❛❧❡♠❡♥t q✉❡ ❧❛ s♦✉r❝❡ ❡st s✐t✉é❡ ♣rès ❞❡ ❧✬♦r✐❣✐♥❡ O ❞❡s ❝♦♦r❞♦♥♥é❡s ❛❧♦rs q✉❡ ❧✬♦❜s❡r✈❛t❡✉r✱ s✐t✉é ❛✉
♣♦✐♥t ~R = R~ez ♦ù ~ez ❡st ❧❡ ✈❡❝t❡✉r ❞✐r❡❝t❡✉r ✉♥✐t❛✐r❡ ❞❡ ❧✬❛①❡ Oz✱ ❡♥ ❡st très é❧♦✐❣♥é ✿ ∀ i ∈ [1,N ], R ≫ ri
♦ù ♦♥ ♥♦t❡ ri = ||~ri||✳ ■❧ ❡st ❛❧♦rs r❛✐s♦♥♥❛❜❧❡ ❞❡ s✬✐♥tér❡ss❡r ♥♦♥ ♣❛s ❛✉① ♣♦s✐t✐♦♥s ❡①❛❝t❡s ❞❡s N ♦❜❥❡ts
♠❛✐s ❛✉① ♣r♦♣r✐étés ❣❧♦❜❛❧❡s ❞❡ ❝❡tt❡ ❞✐str✐❜✉t✐♦♥ ❞❡ ♠❛ss❡s✱ q✉❡ ❧✬♦♥ ❝❛r❛❝tér✐s❡r❛ ♣❛r tr♦✐s ♠♦♠❡♥ts

❞é✜♥✐s ❛✐♥s✐ ✿

♠♦♠❡♥t ♠♦♥♦♣♦❧❛✐r❡ M =

N
∑

n=1

mn, ✭✻✮

♠♦♠❡♥t ❞✐♣♦❧❛✐r❡ ~D =





Dx

Dy

Dz



 =

N
∑

n=1

mn~rn =

N
∑

n=1

mn





xn

yn
zn



 , ✭✼✮

♠♦♠❡♥t q✉❛❞r✉♣♦❧❛✐r❡ Q =





Qxx Qxy Qxz

Qyx Qyy Qyz

Qzx Qzy Qzz



 =

N
∑

n=1

mn

3
[3(~rn)(~rn)

T − r2n1] ✭✽✮

=

N
∑

n=1

mn

3





2x2
n − y2n − z2n 3xnyn 3xnzn
3xnyn 2y2n − x2

n − z2n 3ynzn
3xnzn 3ynzn 2z2n − x2

n − y2n



 . ✭✾✮

Q7. ◗✉❡❧ ❡st ❧❡ s❡♥s ♣❤②s✐q✉❡ ❞❡ M ❡t ~D/M ❄ ❆ q✉❡❧❧❡ ❣r❛♥❞❡✉r ♣❤②s✐q✉❡ Q ❡st✲✐❧ ❤♦♠♦❣è♥❡ ❄

Q8. ❉♦♥♥❡r✱ s❛♥s ❛♣♣r♦①✐♠❛t✐♦♥✱ ❧❡ ❝❤❛♠♣ ❣r❛✈✐t❛t✐♦♥♥❡❧ ♥❡✇t♦♥✐❡♥ st❛t✐q✉❡ ~g ❝réé ♣❛r ❧❛ s♦✉r❝❡ ❛✉

♣♦✐♥t ~R✱ ❡♥ ❢♦♥❝t✐♦♥ ❞❡ G✱ ~R✱ ❞❡s ♠❛ss❡s mn ❡t ❞❡s ♣♦s✐t✐♦♥s ~rn✳ ❉é✈❡❧♦♣♣❡r ❝❡tt❡ ❡①♣r❡ss✐♦♥ à ❧✬♦r❞r❡
❞❡✉① ♣❛r r❛♣♣♦rt ❛✉① ♣❡t✐ts ♣❛r❛♠ètr❡s rn/R✱ ❡♥ r❡❣r♦✉♣❛♥t ❧❡s t❡r♠❡s ❞✉ ♠ê♠❡ ♦r❞r❡✳ ❖♥ r❛♣♣❡❧❧❡ q✉❡
|~R− ~r| = R (1− 2~R.~r/R2 + r2/R2)1/2✳

Q9. ❱ér✐✜❡r q✉✬à ❝❡t ♦r❞r❡ ❞✬❛♣♣r♦①✐♠❛t✐♦♥ ♦♥ ♣❡✉t réé❝r✐r❡ ❧❡s tr♦✐s ❝♦♠♣♦s❛♥t❡s ❞❡ ~g s♦✉s ❧❛ ❢♦r♠❡

gx =
GDx

R3
+

3GQxz

R4
✭✶✵✮

gy =
GDy

R3
+

3GQyz

R4
✭✶✶✮

gz = −GM

R2
− 2GDz

R3
− 9GQzz

2R4
✭✶✷✮

✹



Q10. P♦✉rq✉♦✐✱ ♣♦✉r ❝❡ ❝❤❛♠♣ st❛t✐q✉❡✱ ♣❡✉t✲♦♥ s♦✉✈❡♥t ♥é❣❧✐❣❡r ❧❡s ❝♦♥tr✐❜✉t✐♦♥s ❞❡s t❡r♠❡s ❞✐♣♦❧❛✐r❡
❡t q✉❛❞r✉♣♦❧❛✐r❡ ❧♦rsq✉❡ ❧❛ ❞✐st❛♥❝❡ R ❡st ❣r❛♥❞❡ ❞❡✈❛♥t ❧❛ t❛✐❧❧❡ ❝❛r❛❝tér✐st✐q✉❡ r ❞❡ ❧❛ s♦✉r❝❡ ❄

❖♥ s✉♣♣♦s❡ ♠❛✐♥t❡♥❛♥t q✉✬✉♥❡ ♦♥❞❡ ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡ s✐♥✉s♦ï❞❛❧❡ ❞❡ ♣✉❧s❛t✐♦♥ Ω ❡st é♠✐s❡ ♣❛r ❝❡tt❡ s♦✉r❝❡✳
▲❡s éq✉❛t✐♦♥s ❧✐❛♥t ❧❡ r❛②♦♥♥❡♠❡♥t ❣r❛✈✐t❛t✐♦♥♥❡❧ ❛✉① s♦✉r❝❡s s♦♥t✱ ❞❛♥s ❧❡ ré❣✐♠❡ q✉❡ ❧✬♦♥ ❝♦♥s✐❞èr❡ ✐❝✐✱
s✐♠✐❧❛✐r❡s à ❝❡❧❧❡s ❞❡ ❧✬é❧❡❝tr♦♠❛❣♥ét✐s♠❡✳ ❖♥ ♣❡✉t ❞♦♥❝ ❞é❞✉✐r❡ ❝❡rt❛✐♥❡s ❞❡ s❡s ♣r♦♣r✐étés ♣❛r ❛♥❛❧♦❣✐❡✳

Q11. ❖♥ ❛❞♠❡t q✉❡ ❧❡ r❛②♦♥♥❡♠❡♥t é❧❡❝tr♦♠❛❣♥ét✐q✉❡ ❞✬✉♥❡ s♦✉r❝❡ ✭✉♥❡ ❧❛♠♣❡✱ ✉♥❡ ❛♥t❡♥♥❡✳✳✳✮ ❞é♣❡♥❞
❞❡s tr❛❥❡❝t♦✐r❡s ~rn(t) ❞❡s ❝❤❛r❣❡s qn q✉✐ ② ❝✐r❝✉❧❡♥t✳ ❖♥ s✉♣♣♦s❡ ❝❡tt❡ s♦✉r❝❡ ❣❧♦❜❛❧❡♠❡♥t ♥❡✉tr❡ ✭

∑

n qn =

0✮ ❡t ♦♥ ✐♥tr♦❞✉✐t ❧❡ ♠♦♠❡♥t ❞✐♣♦❧❛✐r❡ é❧❡❝tr✐q✉❡ ~Dq(t) =
∑

n qn~rn(t) ♣♦✉r ❞é❝r✐r❡ ❝❡tt❡ ❞✐str✐❜✉t✐♦♥
❞❡ ❝❤❛r❣❡s ❞❡ ♠❛♥✐èr❡ ❣❧♦❜❛❧❡✱ ❝♦♠♠❡ ♥♦✉s ❧✬❛✈♦♥s ❢❛✐t ♣ré❝é❞❡♠♠❡♥t ♣♦✉r ❧❛ ❞✐str✐❜✉t✐♦♥ ❞❡ ♠❛ss❡s✳
P♦✉rq✉♦✐✱ ♦✉tr❡ ~Dq(t)✱ ❧❛ ❞❡s❝r✐♣t✐♦♥ ❞✉ r❛②♦♥♥❡♠❡♥t ❞♦✐t✲❡❧❧❡ ❢❛✐r❡ ✐♥t❡r✈❡♥✐r ❧❛ ✈✐t❡ss❡ ❞❡ ❧❛ ❧✉♠✐èr❡ c
❡t ❧❛ ♣❡r♠✐tt✐✈✐té ❞✐é❧❡❝tr✐q✉❡ ❞✉ ✈✐❞❡ ǫ0 ❄ ▼♦♥tr❡r q✉❡ ❧❛ q✉❛♥t✐té

1

ǫ0c3

(

d2Dq

dt2

)2

✭✶✸✮

❡st ❤♦♠♦❣è♥❡ à ✉♥❡ ♣✉✐ss❛♥❝❡✳ ❖♥ ❛❞♠❡t q✉✬à ✉♥ ❢❛❝t❡✉r ♥✉♠ér✐q✉❡ ♣rès ❡❧❧❡ ❝♦rr❡s♣♦♥❞ à ❧❛ ♣✉✐ss❛♥❝❡
r❛②♦♥♥é❡✳

Q12. ❚rès ❧♦✐♥ ❞❡ ❧❛ s♦✉r❝❡✱ ❧❡ r❛②♦♥♥❡♠❡♥t ❛ ❧♦❝❛❧❡♠❡♥t ✉♥❡ str✉❝t✉r❡ ❞✬♦♥❞❡ ♣❧❛♥❡✳ ❱ér✐✜❡r q✉❡ ❧❡
❝❤❛♠♣ é❧❡❝tr✐q✉❡ ❞♦✐t s❡ ❝♦♠♣♦rt❡r ❝♦♠♠❡

E ∼ 1

ǫ0c2R

d2Dq

dt2
✭✶✹✮

Q13. ●râ❝❡ à ❧❛ s✐♠✐❧❛r✐té ❞❡s éq✉❛t✐♦♥s ❢♦♥❞❛♠❡♥t❛❧❡s✱ ❧❡ r❛✐s♦♥♥❡♠❡♥t ❝✐✲❞❡ss✉s s❡ tr❛♥s♣♦s❡ à ✉♥❡ ♦♥❞❡
❣r❛✈✐t❛t✐♦♥♥❡❧❧❡✱ ❞♦♥t ❧✬❛♠♣❧✐t✉❞❡ ❞♦✐t ❞é♣❡♥❞r❡ ❞❡s ♠❛ss❡s ❡t ❞❡s ❛❝❝é❧ér❛t✐♦♥s ❞❡s ♦❜❥❡ts q✉✐ ❝♦♥st✐t✉❡♥t
❧❛ s♦✉r❝❡✱ ❞♦♥❝ ❞❡s ❞ér✐✈é❡s s❡❝♦♥❞❡s ♣❛r r❛♣♣♦rt ❛✉ t❡♠♣s ❞❡s ♠♦♠❡♥ts M ✱ ~D ❡t Q✳ ❏✉st✐✜❡r ♣♦✉rq✉♦✐
d2M/dt2 = 0 ❡t d2 ~D/dt2 = ~0✳ ◆♦✉s ✈❡rr♦♥s ♣❧✉s ❧♦✐♥ q✉❡ d2Q/dt2 = Q̈ ♣❡✉t ❡♥ r❡✈❛♥❝❤❡ êtr❡ ♥♦♥ ♥✉❧❧❡✳

Q14. ❈♦♠♣t❡ t❡♥✉ ❞✉ rés✉❧t❛t ♣ré❝é❞❡♥t ❡t ❞✉ ❢❛✐t q✉❡ ❝❡ ♣r♦❜❧è♠❡ ❛ss♦❝✐❡ ❣r❛✈✐t❛t✐♦♥ ❡t r❡❧❛t✐✈✐té✱
♣♦✉rq✉♦✐ ♣❡✉t✲♦♥ s✉♣♣♦s❡r q✉❡ ❧✬❡①♣r❡ss✐♦♥ ❞❡ ❧✬❛♠♣❧✐t✉❞❡ ❞✉ r❛②♦♥♥❡♠❡♥t ❣r❛✈✐t❛t✐♦♥♥❡❧ h ❞ét❡❝té ❛✉
♣♦✐♥t ~R ❢❛✐t ✐♥t❡r✈❡♥✐r G✱ R✱ c✱ ❡t Q̈ ❄

Q15. P❛r ❛♥❛❧②s❡ ❞✐♠❡♥s✐♦♥♥❡❧❧❡✱ ❝♦♥str✉✐r❡ ✉♥❡ ❣r❛♥❞❡✉r ♣r♦♣♦rt✐♦♥♥❡❧❧❡ à Q̈ ❢❛✐s❛♥t ✐♥t❡r✈❡♥✐r é❣❛❧❡✲
♠❡♥t G✱ R ❡t c ❡t ❛②❛♥t ❧❛ ♠ê♠❡ ❞✐♠❡♥s✐♦♥ q✉❡ h✳

✶✳✸ ❘❛②♦♥♥❡♠❡♥t ❣r❛✈✐t❛t✐♦♥♥❡❧ ❞✬✉♥ s②stè♠❡ ❜✐♥❛✐r❡

❖♥ s✉♣♣♦s❡ q✉❡ ❧❛ s♦✉r❝❡ ❝✐✲❞❡ss✉s ❡st ❝♦♥st✐t✉é❡ ❞❡ N = 2 ♦❜❥❡ts ♣♦♥❝t✉❡❧s ❞❡ ♠❛ss❡s ✐❞❡♥t✐q✉❡s
m1 = m2 = m ❡♥ ✐♥t❡r❛❝t✐♦♥ ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡✱ é✈♦❧✉❛♥t ❞❛♥s ❧❡ ♣❧❛♥ Oxy s✉r ✉♥❡ ♦r❜✐t❡ ❝✐r❝✉❧❛✐r❡ ❞❡
r❛②♦♥ r1 = r2 = r ❛✉t♦✉r ❞❡ ❧❡✉r ❝❡♥tr❡ ❞❡ ♠❛ss❡ ❝❤♦✐s✐ ❝♦♠♠❡ ♦r✐❣✐♥❡ ❞❡s ❝♦♦r❞♦♥♥é❡s O ✭✈♦✐r ❋✐❣✳✷✮✳
❖♥ s✉♣♣♦s❡ q✉❡ ❧❡✉rs ✈✐t❡ss❡s s♦♥t très ✐♥❢ér✐❡✉r❡s à ❝❡❧❧❡ ❞❡ ❧❛ ❧✉♠✐èr❡✱ ❝❡ q✉✐ ♣❡r♠❡t ❞❡ tr❛✐t❡r ❧❡✉r
♠♦✉✈❡♠❡♥t ❞❛♥s ❧❡ ❝❛❞r❡ ❞❡ ❧❛ ♠é❝❛♥✐q✉❡ ♥♦♥✲r❡❧❛t✐✈✐st❡ ❝❧❛ss✐q✉❡✳ ▲❡s ♣♦s✐t✐♦♥s ❞❡s ♦❜❥❡ts s♦♥t ♥♦té❡s
x1 = −x2 = r cos(Ωt) ❡t y1 = −y2 = r sin(Ωt)✳

Q16. ❉ét❡r♠✐♥❡r ❧❡ r❛②♦♥ ❞❡ ❧✬♦r❜✐t❡ r ❡♥ ❢♦♥❝t✐♦♥ ❞❡ ❧❛ ♣✉❧s❛t✐♦♥ Ω✱ ❞❡ ❧❛ ♠❛ss❡ m ❞❡ ❝❤❛q✉❡ ♦❜❥❡t ❡t
❞❡ ❝♦♥st❛♥t❡✭s✮ ❢♦♥❞❛♠❡♥t❛❧❡✭s✮✳ ❊①♣r✐♠❡r ❧❛ ♥♦r♠❡ ❞❡ ❧❛ ✈✐t❡ss❡ ❞❡ ❝❤❛q✉❡ ♦❜❥❡t ❡♥ ❢♦♥❝t✐♦♥ ❞❡s ♠ê♠❡s
❣r❛♥❞❡✉rs✳ ➚ q✉❡❧❧❡ ❝♦♥❞✐t✐♦♥ ❧✬❤②♣♦t❤ès❡ ❞❡ ♠♦✉✈❡♠❡♥t ♥♦♥✲r❡❧❛t✐✈✐st❡ r❡st❡✲t✲❡❧❧❡ ✈ér✐✜é❡ ❄

Q17. ❊①♣r✐♠❡r ❧✬é♥❡r❣✐❡ ❝✐♥ét✐q✉❡ t♦t❛❧❡ Ec ❞✉ s②stè♠❡ ❡t ❧✬é♥❡r❣✐❡ ♣♦t❡♥t✐❡❧❧❡ ❞✬✐♥t❡r❛❝t✐♦♥ Ep ❡♥tr❡ ❧❡s
❞❡✉① ♠❛ss❡s✱ ❡♥ ❢♦♥❝t✐♦♥ ❞❡ G✱ m ❡t r✱ ❡♥ s✉♣♣♦s❛♥t lim

r→+∞
(Ep) = 0✳ P♦✉r ✉♥ ♠♦✉✈❡♠❡♥t ♥♦♥ r❡❧❛t✐✈✐st❡✱

❝♦♠♠❡♥t ❝❡s é♥❡r❣✐❡s s❡ ❝♦♠♣❛r❡♥t✲❡❧❧❡s à ❧✬é♥❡r❣✐❡ ❞❡ ♠❛ss❡ ❛✉ r❡♣♦s Em = 2mc2 ❞✉ s②stè♠❡ ❄

Q18. ❉ét❡r♠✐♥❡r ❧❡s ❡①♣r❡ss✐♦♥s ♠❛tr✐❝✐❡❧❧❡s ❞❡ Q ❡t Q̈ ♣♦✉r ❝❡ s②stè♠❡✱ ❡♥ s✐♠♣❧✐✜❛♥t ❧❡s ❡①♣r❡ss✐♦♥s à
❧✬❛✐❞❡ ❞❡s ❢♦r♠✉❧❡s tr✐❣♦♥♦♠étr✐q✉❡s ❞♦♥♥é❡s ❡♥ ♣ré❛♠❜✉❧❡✳

❯♥ ❝❛❧❝✉❧ ❢❛✐t à ♣❛rt✐r ❞❡s éq✉❛t✐♦♥s ❞✬❊✐♥st❡✐♥ ❞❡ ❧❛ r❡❧❛t✐✈✐té ❣é♥ér❛❧❡ ❡①♣r✐♠é❡s ❞❛♥s ✉♥ ré❢ér❡♥t✐❡❧
❛♣♣r♦♣r✐é ❞♦♥♥❡ ❞❛♥s ❝❡ ❝❛s

h =
2G

Rc4
Q̈⊥(t−R/c) ✭✶✺✮

✺



x

y

O

r

v

-v

R

z

h

-r

m

m

❋✐❣✉r❡ ✷ ✕ ❘❛②♦♥♥❡♠❡♥t ❣r❛✈✐t❛t✐♦♥♥❡❧ ❞✬✉♥ s②stè♠❡ ❝♦♥st✐t✉é ❞❡ ❞❡✉① ♦❜❥❡ts ♣♦♥❝t✉❡❧s ❡♥ r♦t❛t✐♦♥✳

♦ù

Q⊥ =

(

Qxx Qxy

Qyx Qyy

)

, ✭✶✻✮

❡st ❧❛ ♣❛rt✐❡ ❞❡ Q ❝♦rr❡s♣♦♥❞❛♥t ❛✉ s❡✉❧ ♣❧❛♥ Oxy✳ ❈❡tt❡ r❡❧❛t✐♦♥ ♣❡✉t s❡ réé❝r✐r❡
(

hxx hxy

hyx hyy

)

=
2G

Rc4

(

Q̈xx(t−R/c) Q̈xy(t−R/c)

Q̈yx(t−R/c) Q̈yy(t−R/c)

)

✭✶✼✮

Q19. ▼♦♥tr❡r q✉✬♦♥ ♣❡✉t é❝r✐r❡ h s♦✉s ❧❛ ❢♦r♠❡ ❞❡ ❞❡✉① ♣♦❧❛r✐s❛t✐♦♥s

h = h+

(

1 0
0 −1

)

+ h×

(

0 1
1 0

)

, ✭✶✽✮

❡t ❞ét❡r♠✐♥❡r ❧❡s ❡①♣r❡ss✐♦♥s ❞❡s ❢♦♥❝t✐♦♥s h+ ❡t h×✳

Q20. ◗✉❡❧❧❡ ❡st ❧❛ ❢réq✉❡♥❝❡ ν ❞❡ ❧✬♦♥❞❡ ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡ ❄

Q21. ❈♦♠♣❛r❡r ❧❡s ❛♠♣❧✐t✉❞❡s h̄+ ❡t h̄× ❞❡s ❢♦♥❝t✐♦♥s h+ ❡t h×✳ ❉❛♥s q✉❡❧❧❡ ♠❡s✉r❡ ❝❡ rés✉❧t❛t ét❛✐t✲✐❧
♣ré✈✐s✐❜❧❡ s❛♥s ❝❛❧❝✉❧ ❄

Q22. ❉❛♥s ❧✬❤②♣♦t❤ès❡ ❞✬✉♥ ♠♦✉✈❡♠❡♥t ♥♦♥ r❡❧❛t✐✈✐st❡✱ ❝♦♠♣❛r❡r ❧❛ ❧♦♥❣✉❡✉r ❞✬♦♥❞❡ λ ❞✉ r❛②♦♥♥❡♠❡♥t
❣r❛✈✐t❛t✐♦♥♥❡❧ à r✳ ❉♦✐t✲♦♥ ❛❧♦rs t❡♥✐r ❝♦♠♣t❡ ❞✉ t❡♠♣s ❞❡ ♣r♦♣❛❣❛t✐♦♥ ❞✉ ❝❤❛♠♣ ❣r❛✈✐t❛t✐♦♥♥❡❧ à tr❛✈❡rs
❧❛ s♦✉r❝❡ ♣♦✉r ❝❛❧❝✉❧❡r ❧❡s tr❛❥❡❝t♦✐r❡s ❞❡ s❡s ❝♦♥st✐t✉❛♥ts ❄ ◗✉❡❧ ❡st ❧❡ ♥♦♠ ❞❡ ❧✬❛♣♣r♦①✐♠❛t✐♦♥ éq✉✐✈❛❧❡♥t❡
❞❛♥s ❧❡ ❞♦♠❛✐♥❡ ❞❡ ❧✬é❧❡❝tr♦❝✐♥ét✐q✉❡ ❄

✶✳✹ ●❲✶✺✵✾✶✹

▲❡ s✐❣♥❛❧ ●❲✶✺✵✾✶✹ ❞ét❡❝té ♣❛r ▲■●❖ ❧❡ ✶✹ s❡♣t❡♠❜r❡ ✷✵✶✺ ❡t r❡♣rés❡♥té s✉r ❧❛ ✜❣✉r❡ ✸ ét❛✐t ♣r♦❞✉✐t
♣❛r ❞❡✉① tr♦✉s ♥♦✐rs ❞❡ ♠❛ss❡ m ≈ 30 ▼⊙✱ s✐t✉és à ✉♥❡ ❞✐st❛♥❝❡ R ≈ 440 ▼♣❝ ❞❡ ❧❛ ❚❡rr❡ ✭❝❡s ✉♥✐tés
s♦♥t ❞é✜♥✐❡s ❞❛♥s ❧❡ ♣ré❛♠❜✉❧❡✮✳ ❆✉ ❞é❜✉t ❞❡ ❧❛ ❞ét❡❝t✐♦♥ ❧❛ ❢réq✉❡♥❝❡ ν ❞❡ ❧✬♦♥❞❡ ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡ ✈❛❧❛✐t
νmin = 35 ❍③✱ ♣✉✐s ❡❧❧❡ ❛ ❛✉❣♠❡♥té ❞✉r❛♥t 0,2 s❡❝♦♥❞❡s ♣♦✉r ❛tt❡✐♥❞r❡ νmax = 150 ❍③✳ P❡♥❞❛♥t ❝❡ t❡♠♣s
❧✬❛♠♣❧✐t✉❞❡ ❞✉ s✐❣♥❛❧ ❛ ❛✉❣♠❡♥té✳ ▲❡ s✐❣♥❛❧ s✬❡st ❡♥s✉✐t❡ r❛♣✐❞❡♠❡♥t ❛tté♥✉é ❡t ❛ ❞✐s♣❛r✉✳

Q23. ❉✬❛♣rès ❧❡ ♠♦❞è❧❡ q✉❡ ♥♦✉s ❛✈♦♥s ❞é✈❡❧♦♣♣é✱ ♥♦t❛♠♠❡♥t ❧❡s q✉❡st✐♦♥s ✶✻ à ✷✵✱ ❧✬❛✉❣♠❡♥t❛t✐♦♥ ❞❡
❧❛ ❢réq✉❡♥❝❡ ❞❡ ❧✬♦♥❞❡ ❡st✲❡❧❧❡ ❝♦❤ér❡♥t❡ ❛✈❡❝ ❝❡❧❧❡ ❞❡ s♦♥ ❛♠♣❧✐t✉❞❡ ❄ ◗✉❡ tr❛❞✉✐t✲❡❧❧❡ s✉r ❧❛ ♣✉❧s❛t✐♦♥
❞❡ r♦t❛t✐♦♥ Ω ❞❡ ❧❛ s♦✉r❝❡✱ s✉r ❧❡ r❛②♦♥ ❞❡ ❧✬♦r❜✐t❡ r✱ ❡t s✉r ❧❛ s♦♠♠❡ Ec + Ep ❞❡s é♥❡r❣✐❡s ❝✐♥ét✐q✉❡ ❡t
♣♦t❡♥t✐❡❧❧❡ ❞✉ s②stè♠❡ ❄ ◗✉✬❡st✲❝❡ q✉✐ ❛ ♣✉ ❝❛✉s❡r ❧✬✐♥t❡rr✉♣t✐♦♥ ❞✉ s✐❣♥❛❧ ❄

✻
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×
1
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1
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Temps (s)

❋✐❣✉r❡ ✸ ✕ ❉é❢♦r♠❛t✐♦♥ h ♠❡s✉ré❡ ♣❛r ❞❡✉① ❛♥t❡♥♥❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s ❞❡ ▲■●❖ ❧❡ ✶✹ s❡♣t❡♠❜r❡ ✷✵✶✺✳
❋✐❣✉r❡ ❛❞❛♣té❡ ❞❡ ❇✳ P✳ ❆❜❜♦tt ❡t ❛❧✳ ✭▲■●❖ ❙❝✐❡♥t✐✜❝ ❈♦❧❧❛❜♦r❛t✐♦♥ ❛♥❞ ❱✐r❣♦ ❈♦❧❧❛❜♦r❛t✐♦♥✮✱ ✏❖❜s❡r✲
✈❛t✐♦♥ ♦❢ ●r❛✈✐t❛t✐♦♥❛❧ ❲❛✈❡s ❢r♦♠ ❛ ❇✐♥❛r② ❇❧❛❝❦ ❍♦❧❡ ▼❡r❣❡r✑✱ P❤②s✳ ❘❡✈✳ ▲❡tt✳ ✶✶✻✱ ✵✻✶✶✵✷ ✭✷✵✶✻✮✳

Q24. ❊♥ ✉t✐❧✐s❛♥t ❧❡s ❞♦♥♥é❡s ❢♦✉r♥✐❡s ❞❛♥s ❧❡ ♣ré❛♠❜✉❧❡✱ é✈❛❧✉❡r ♥✉♠ér✐q✉❡♠❡♥t ❧❡s ❛♠♣❧✐t✉❞❡s ♠❛①✐✲
♠❛❧❡s h̄+,max ❡t h̄×,max ❞❡s ♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s ❞ét❡❝té❡s✳

P♦✉r ❞ét❡❝t❡r ❝❡s ♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s✱ ❧✬♦❜s❡r✈❛t❡✉r s✐t✉é ❛✉ ♣♦✐♥t ❞❡ ❝♦♦r❞♦♥♥é❡s (0,0,R) ♠❡s✉r❡ ❧❡s
❞✐st❛♥❝❡s Lx(t) ❡t Ly(t) ❡♥tr❡ s❛ ♣♦s✐t✐♦♥ ❡t ❝❡❧❧❡s ❞❡ ❞❡✉① ♦❜❥❡ts s✐t✉és r❡s♣❡❝t✐✈❡♠❡♥t ❛✉① ♣♦✐♥ts ❞❡
❝♦♦r❞♦♥♥é❡s (L0,0,R) ❡t (0,L0,R) ❞❛♥s ❧❡ r❡♣èr❡ Oxyz✳

Q25. ❊♥ ✉t✐❧✐s❛♥t ❧❡ rés✉❧t❛t ❞❡ ❧❛ q✉❡st✐♦♥ ✺✱ ❡①♣r✐♠❡r ❧❡s ✈❛r✐❛t✐♦♥s δLx(t) = Lx(t) − L0 ❡t δLy(t) =
Ly(t)−L0 ❡♥ ❢♦♥❝t✐♦♥ ❞❡ L0 ❡t ❞❡s ❢♦♥❝t✐♦♥s h+(t) ❡t h×(t)✳ ❉ét❡r♠✐♥❡r ❧❛ ❞✐❧❛t❛t✐♦♥ ♠❛①✐♠❛❧❡ δLx ♣♦✉r
L0 = 4000 ♠✳ ❈♦♠♣❛r❡r✱ ❡♥ ♦r❞r❡ ❞❡ ❣r❛♥❞❡✉r✱ ❛✈❡❝ ❧❛ t❛✐❧❧❡ ❝❛r❛❝tér✐st✐q✉❡ ❞✬✉♥ ♥♦②❛✉ ❛t♦♠✐q✉❡✳

✷ ❉ét❡❝t✐♦♥ ✐♥t❡r❢ér♦♠étr✐q✉❡ ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s

❈❡tt❡ ♣❛rt✐❡ ❞é❝r✐t ❧❡ ♣r✐♥❝✐♣❡ ❞❡ ❢♦♥❝t✐♦♥♥❡♠❡♥t ❞❡s ❞ét❡❝t❡✉rs ✐♥t❡r❢ér♦♠étr✐q✉❡s ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥✲
♥❡❧❧❡s✱ ❞é✈❡❧♦♣♣és ♣❛r ❧❡ ♣r♦❥❡t ▲■●❖ ❛✉① ❯❙❆ ♠❛✐s ❛✉ss✐ ♣❛r ❧❡s ♣r♦❥❡ts ❱■❘●❖ ❡t ●❊❖ ❡♥ ❊✉r♦♣❡
♦✉ ❑❆●❘❆ ❛✉ ❏❛♣♦♥✳ ▲✬♦❜❥❡❝t✐❢ ❞❡ ❝❡s ✐♥str✉♠❡♥ts ❡st ❞❡ ❞ét❡❝t❡r ❞❡ très ❢❛✐❜❧❡s ✢✉❝t✉❛t✐♦♥s δL ❞❡ ❧❛
❞✐st❛♥❝❡ L ❡♥tr❡ ❞❡✉① ♦❜❥❡ts ✐s♦❧és✱ ❞❡ ❧✬♦r❞r❡ ❞❡ δL/L ≈ 10−21 ❡♥ ✈❛❧❡✉r r❡❧❛t✐✈❡✱ ❝❛✉sé❡s ♣❛r ❞❡s ♦♥❞❡s
❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s✳
▲❛ ✜❣✉r❡ ✹ ♣rés❡♥t❡ ✉♥ s❝❤é♠❛ s✐♠♣❧✐✜é ❞✬✉♥ ❞ét❡❝t❡✉r ✐♥t❡r❢ér♦♠étr✐q✉❡ ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s✱ ❝♦♥st✐✲
t✉é ❞✬✉♥ ✐♥t❡r❢ér♦♠ètr❡ ❞❡ ▼✐❝❤❡❧s♦♥ ❝♦♥t❡♥❛♥t ✉♥ rés♦♥❛t❡✉r ♦♣t✐q✉❡ ❞❛♥s ❝❤❛q✉❡ ❜r❛s✳ ❯♥ ❢❛✐s❝❡❛✉ ❧❛s❡r✱
✐♥❝✐❞❡♥t s✉r ✉♥ ♠✐r♦✐r s❡♠✐✲ré✢é❝❤✐ss❛♥t ❙❊P ❛✈❡❝ ✉♥ ❛♥❣❧❡ ❞❡ 45◦✱ ❡st sé♣❛ré ❡♥ ❞❡✉① ❢❛✐s❝❡❛✉① ❞✬✐♥✲
t❡♥s✐tés é❣❛❧❡s✳ ❈❡s ❢❛✐s❝❡❛✉① s♦♥t ❡♥✈♦②és ✈❡rs ❧❡s rés♦♥❛t❡✉rs ♦♣t✐q✉❡s ❝♦♥st✐t✉és ❝❤❛❝✉♥ ❞✬✉♥ ♠✐r♦✐r
❞✬❡♥tré❡✴s♦rt✐❡ ♣❛rt✐❡❧❧❡♠❡♥t ré✢é❝❤✐ss❛♥t ▼❊ ❡t ❞✬✉♥ ♠✐r♦✐r ❞❡ ✜♥ ❞❡ ❝❛✈✐té ♣❛r❢❛✐t❡♠❡♥t ré✢é❝❤✐ss❛♥t
▼❋✳ ▲❡s ❢❛✐s❝❡❛✉① q✉✐ r❡✈✐❡♥♥❡♥t ❞❡ ❝❡s rés♦♥❛t❡✉rs ✐♥t❡r❢èr❡♥t s✉r ❧❛ sé♣❛r❛tr✐❝❡ ❙❊P ❡t ❧❛ ♣✉✐ss❛♥❝❡ ❞✉
❢❛✐s❝❡❛✉ s♦rt❛♥t ❡st ♠❡s✉ré❡ ♣❛r ✉♥ ❞ét❡❝t❡✉r ♦♣t✐q✉❡✳
▲✬❡♥s❡♠❜❧❡ ❡st ♣❧❛❝é s♦✉s ✈✐❞❡ ♣♦✉ssé✱ ❡t ❧✬✐♥❞✐❝❡ ❞❡ ré❢r❛❝t✐♦♥ ♦♣t✐q✉❡ ❞❛♥s ❝❡t ✐♥t❡r❢ér♦♠ètr❡ s❡r❛ ♣r✐s
é❣❛❧ à 1✳ ▲❡s ♠✐r♦✐rs ❢♦r♠❛♥t ❧❡s rés♦♥❛t❡✉rs ♦♣t✐q✉❡s s♦♥t s✉s♣❡♥❞✉s ♣❛r ❞❡s ✜❧s très ✜♥s ❡t s♦♥t ❧✐❜r❡s
❞✬♦s❝✐❧❧❡r ❧é❣èr❡♠❡♥t ❛✉t♦✉r ❞❡ ❧❡✉r ♣♦✐♥t ❞✬éq✉✐❧✐❜r❡ ❞❛♥s ❧❛ ❞✐r❡❝t✐♦♥ ♥♦r♠❛❧❡ à ❧❡✉r s✉r❢❛❝❡✳

✷✳✶ ▼✐r♦✐rs s✉s♣❡♥❞✉s

❖♥ s✬✐♥tér❡ss❡ ✐❝✐ ❛✉ ❝♦♠♣♦rt❡♠❡♥t ♠é❝❛♥✐q✉❡ ❞❡s ♠✐r♦✐rs s✉s♣❡♥❞✉s✱ q✉❡ ❧✬♦♥ s✉♣♣♦s❡ ✐❞❡♥t✐q✉❡s✳ ❖♥
✐s♦❧❡ ❞♦♥❝ ❧✬✉♥ ❞❡ ❝❡s ♠✐r♦✐rs✱ ▼❋①✱ q✉❡ ❧✬♦♥ ♠♦❞é❧✐s❡ ❝♦♠♠❡ ✉♥ ♦❜❥❡t ♣♦♥❝t✉❡❧ ❞❡ ♠❛ss❡ M s✉s♣❡♥❞✉
à ✉♥ ✜❧ ✐♥❡①t❡♥s✐❜❧❡ s❛♥s ♠❛ss❡ ❞❡ ❧♦♥❣✉❡✉r l✱ ❧✐❜r❡ ❞✬♦s❝✐❧❧❡r ❧é❣èr❡♠❡♥t ❞❛♥s ❧❡ ♣❧❛♥ Oxz ♦ù Oz ❡st
❧✬❛①❡ ✈❡rt✐❝❛❧✳ ❈❡ ♠✐r♦✐r ❡st s♦✉♠✐s à s♦♥ ♣r♦♣r❡ ♣♦✐❞s ♦r✐❡♥té s✉✐✈❛♥t Oz ❡t à ✉♥❡ ❢♦r❝❡ ❡①tér✐❡✉r❡
~F (t) = F eiωt~ex ♦r✐❡♥té❡ s✉✐✈❛♥t ❧✬❛①❡ Ox✳ ▲❛ ♣♦s✐t✐♦♥ ❞✉ ♠✐r♦✐r s✉r ❧✬❛①❡ Ox✱ ❡t ❝❡❧❧❡ ❞✉ ♣♦✐♥t ❞❡
s✉s♣❡♥s✐♦♥ ❞✉ ✜❧ ❛✉ s✉♣♣♦rt✱ s♦♥t r❡s♣❡❝t✐✈❡♠❡♥t ♥♦té❡s x(t) ❡t xf (t) ✭✈♦✐r ❋✐❣✉r❡ ✺✮✳ ❊❧❧❡s s❛t✐s❢♦♥t à
❝❤❛q✉❡ ✐♥st❛♥t |x(t)− xf (t)| ≪ l

✼
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Détecteur optique

❋✐❣✉r❡ ✹ ✕ ❙❝❤é♠❛ s✐♠♣❧✐✜é ❞✬✉♥ ❞ét❡❝t❡✉r ✐♥t❡r❢ér♦♠étr✐q✉❡ ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s✱ ❝♦♥st✐t✉é ❞✬✉♥
✐♥t❡r❢ér♦♠ètr❡ ❞❡ ▼✐❝❤❡❧s♦♥ ❝♦♥t❡♥❛♥t ✉♥ rés♦♥❛t❡✉r ♦♣t✐q✉❡ ❞❛♥s ❝❤❛q✉❡ ❜r❛s✳ ❙❊P ✿ sé♣❛r❛tr✐❝❡ s❡♠✐✲
ré✢é❝❤✐ss❛♥t❡ ❀ ▼❊①✴▼❊② ✿ ♠✐r♦✐rs s✉s♣❡♥❞✉s ❞❡ tr❛♥s♠✐ss✐♦♥ T ≪ 1 ❡♥ ✐♥t❡♥s✐té ❀ ▼❋①✴▼❋② ✿ ♠✐r♦✐rs
s✉s♣❡♥❞✉s ♣❛r❢❛✐t❡♠❡♥t ré✢é❝❤✐ss❛♥ts ❀ lx/ly ✿ ❞✐st❛♥❝❡ ❙❊P✲▼❊①✴❙❊P✲▼❊② ❀ Lx/Ly ✿ ❞✐st❛♥❝❡ ▼❊①✲▼❋①
✴ ▼❊②✲▼❋②✳

Q26. ❖♥ s✉♣♣♦s❡ ❞✬❛❜♦r❞ q✉❡ ❧❡ ♣♦✐♥t ❞✬❛tt❛❝❤❡ ❡st ✜①❡ ✿ xf = 0✳ ➱❝r✐r❡ ❧✬éq✉❛t✐♦♥ ❞✐✛ér❡♥t✐❡❧❧❡ ré❣✐ss❛♥t
x(t) ♣♦✉r ❞❡ ♣❡t✐t❡s ♦s❝✐❧❧❛t✐♦♥s✳ ❊♥ ré❣✐♠❡ ❢♦r❝é✱ ❞ét❡r♠✐♥❡r ❧✬❛♠♣❧✐t✉❞❡ x0 ❞❡ ❧❛ s♦❧✉t✐♦♥ x(t) = x0e

iωt

❡♥ ❢♦♥❝t✐♦♥ ❞❡s ♣❛r❛♠ètr❡s ❞✉ ♣r♦❜❧è♠❡✳ ▼♦♥tr❡r q✉❡ ❧♦rsq✉❡ ❧❛ ♣✉❧s❛t✐♦♥ ω ❡st très ❣r❛♥❞❡ ❞❡✈❛♥t ✉♥❡
♣✉❧s❛t✐♦♥ ❞❡ rés♦♥❛♥❝❡ ω0 q✉❡ ❧✬♦♥ ♣ré❝✐s❡r❛✱ ❧❛ ré♣♦♥s❡ ❞❡ ❝❡ s②stè♠❡ à ❧❛ ❢♦r❝❡ ~F ❡st ✐❞❡♥t✐q✉❡ à ❝❡❧❧❡
❞✬✉♥ s②stè♠❡ ❞❡ ♠❛ss❡ M s♦✉♠✐s à ❝❡tt❡ ❢♦r❝❡ ❡t à ❡❧❧❡ s❡✉❧❡✳

❖♥ s✉♣♣♦s❡ ♠❛✐♥t❡♥❛♥t q✉❡ ~F = ~0 ♠❛✐s q✉❡ ❧❡ s✉♣♣♦rt ❛✉q✉❡❧ ❡st ❛❝❝r♦❝❤é ❧❡ ✜❧ ❞❡ s✉s♣❡♥s✐♦♥ ✈✐❜r❡ ✿ ❧❛
♣♦s✐t✐♦♥ xf ❞✉ ♣♦✐♥t ❞❡ s✉s♣❡♥s✐♦♥ ❞✉ ✜❧ ❡✛❡❝t✉❡ ✉♥ ♠♦✉✈❡♠❡♥t ♦s❝✐❧❧❛♥t ❞é❝r✐t ♣❛r xf (t) = aeiωt✳

Q27. ➱❝r✐r❡ ❧✬éq✉❛t✐♦♥ ❞✐✛ér❡♥t✐❡❧❧❡ ré❣✐ss❛♥t x(t) ♣♦✉r ❞❡ ♣❡t✐t❡s ♦s❝✐❧❧❛t✐♦♥s ❞❛♥s ❝❡ ❝❛s✱ ❡t ♠♦♥tr❡r
q✉✬♦♥ ♣❡✉t s❡ r❛♠❡♥❡r ❛✉ ❝❛s ♣ré❝é❞❡♥t ❡♥ r❡♠♣❧❛ç❛♥t F ♣❛r ✉♥❡ ❢♦r❝❡ q✉❡ ❧✬♦♥ ❞ét❡r♠✐♥❡r❛✳

Q28. ❊①♣r✐♠❡r ❧❡ r❛♣♣♦rt H1(ω) = x0/a✱ ♦ù x0 ❡st ❧✬❛♠♣❧✐t✉❞❡ ❞❡ ❧❛ s♦❧✉t✐♦♥ ❢♦r❝é❡✱ ❡♥ ❢♦♥❝t✐♦♥ ❞❡
ω ❡t ω0✳ ❘❡♣rés❡♥t❡r ❧✬❛❧❧✉r❡ ❞❡ H1(ω)✳ ❖♥ ♣❡✉t ✐♥t❡r♣rét❡r ❝❡ r❛♣♣♦rt ❝♦♠♠❡ ❧❛ ❢♦♥❝t✐♦♥ ❞❡ tr❛♥s❢❡rt
❞✬✉♥ ✜❧tr❡ ♠é❝❛♥✐q✉❡✱ ❛♥❛❧♦❣✉❡ à ✉♥ ✜❧tr❡ é❧❡❝tr♦♥✐q✉❡ ✿ ❞❡ q✉❡❧ t②♣❡ ❞❡ ✜❧tr❡ s✬❛❣✐t✲✐❧✱ ❡t ❞❡ q✉❡❧ ♦r❞r❡ ❄
❈♦♠♠❡♥t ❞♦✐t✲♦♥ ❝❤♦✐s✐r ω0 ♣♦✉r ✜❧tr❡r ❡✣❝❛❝❡♠❡♥t ❧❡s ✈✐❜r❛t✐♦♥s ❞✉ s✉♣♣♦rt ❄ ❙✐ ♦♥ ♠❡t N ✜❧tr❡s ❞❡
❝❡ t②♣❡ ❡♥ ❝❛s❝❛❞❡ ✭❡♥ ❛❝❝r♦❝❤❛♥t N ♣❡♥❞✉❧❡s ❧❡s ✉♥s ❛✉① ❛✉tr❡s✮✱ q✉❡❧❧❡ ❧♦✐ ❞❡ ♣✉✐ss❛♥❝❡ s✬❛tt❡♥❞✲♦♥ à
♦❜t❡♥✐r ♣♦✉r ❧❡ ❝♦♠♣♦rt❡♠❡♥t ❞❡ ❧❛ ❢♦♥❝t✐♦♥ ❞❡ tr❛♥s❢❡rt HN (ω) ❞❛♥s ❧❛ ❧✐♠✐t❡ ω ≫ ω0 ❄

✷✳✷ ❘és♦♥❛t❡✉rs ♦♣t✐q✉❡s

❖♥ s✬✐♥tér❡ss❡ ♠❛✐♥t❡♥❛♥t à ❧✬✉♥ ❞❡s rés♦♥❛t❡✉rs ♦♣t✐q✉❡s✱ ❧❡s ❞❡✉① rés♦♥❛t❡✉rs ét❛♥t ✐❞❡♥t✐q✉❡s✳ ❖♥ ♥❡
t✐❡♥❞r❛ ♣❛s ❝♦♠♣t❡ ❞❡ ❧❛ ♣♦❧❛r✐s❛t✐♦♥ ❡t ❞❡ ❧❛ ❞✐✛r❛❝t✐♦♥ ❞❡s ❢❛✐s❝❡❛✉①✱ q✉❡ ❧✬♦♥ tr❛✐t❡r❛ ❝♦♠♠❡ ❞❡s ♦♥❞❡s
♣❧❛♥❡s s❝❛❧❛✐r❡s✳ ❈❡s ♦♥❞❡s s❡r♦♥t ❡①♣r✐♠é❡s ❡♥ ♥♦t❛t✐♦♥ ❝♦♠♣❧❡①❡ s♦✉s ❧❛ ❢♦r♠❡

E(x,t) = E
(

t± x

c

)

e−i(ωt±kx), ✭✶✾✮

♦ù E(t ± x/c) ❡st ✉♥❡ ❛♠♣❧✐t✉❞❡ ❝♦♠♣❧❡①❡ ❧❡♥t❡♠❡♥t ✈❛r✐❛❜❧❡✳ ❖♥ s✉♣♣♦s❡ q✉❡ ❝❡tt❡ ❛♠♣❧✐t✉❞❡ ❡st
❝♦♥st❛♥t❡ ♣♦✉r ❧❡ ❢❛✐s❝❡❛✉ ✐♥❥❡❝té ❞❛♥s ❧❡ rés♦♥❛t❡✉r ✿

Ei(x,t) = Eie
−i(ωt−kx), ✭✷✵✮

✽



xf xO
x

z

Support

Miroir

l

❋✐❣✉r❡ ✺ ✕ ▼♦❞é❧✐s❛t✐♦♥ ♠é❝❛♥✐q✉❡ ❞✬✉♥ ♠✐r♦✐r s✉s♣❡♥❞✉ ❞❡ ▲■●❖✳

-1

Ei Ec

Eo Eb

MFME

τ

L(t)

ρ
ρ'

τ'

❋✐❣✉r❡ ✻ ✕ ❙❝❤é♠❛ s✐♠♣❧✐✜é ❞✬✉♥ rés♦♥❛t❡✉r ♦♣t✐q✉❡ ✉t✐❧✐sé ❞❛♥s ❧❡ ❞ét❡❝t❡✉r ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s✳

Q29. ◗✉❡❧❧❡ ♣r♦♣r✐été ❞❡ ❧✬♦♥❞❡ Ei ❧❛ ❝♦♥❞✐t✐♦♥ ❝✐✲❞❡ss✉s tr❛❞✉✐t✲❡❧❧❡ ❄ ❊①♣r✐♠❡r ❧❛ ♣✉❧s❛t✐♦♥ ω ❡t ❧❡
✈❡❝t❡✉r ❞✬♦♥❞❡ k ❡♥ ❢♦♥❝t✐♦♥ ❞❡ ❧❛ ❧♦♥❣✉❡✉r ❞✬♦♥❞❡ λ✳

❯♥ s❝❤é♠❛ ❞❡ ❝❡ rés♦♥❛t❡✉r ❡st r❡♣rés❡♥té s✉r ❧❛ ✜❣✉r❡ ✻✳ ❯♥ ♠✐r♦✐r ♣❛rt✐❡❧❧❡♠❡♥t ré✢é❝❤✐ss❛♥t ▼❊✱
s✉♣♣♦sé ✐♥✜♥✐♠❡♥t ♠✐♥❝❡ ❡t s❛♥s ♣❡rt❡s✱ ❡st ♣❧❛❝é ❡♥ x = 0✳ P♦✉r ❧❡ ❝❤❛♠♣ Ei(x,t) ✐♥❝✐❞❡♥t s✉r ❧❡
♠✐r♦✐r ❞❡♣✉✐s ❧❡ ❞❡♠✐✲❡s♣❛❝❡ x < 0✱ ❧❡s ❝♦❡✣❝✐❡♥ts ❞❡ tr❛♥s♠✐ss✐♦♥ ❡t ❞❡ ré✢❡①✐♦♥ ❡♥ ❛♠♣❧✐t✉❞❡ s♦♥t
r❡s♣❡❝t✐✈❡♠❡♥t ♥♦tés τ ❡t ρ✳ P♦✉r ❧❡ ❝❤❛♠♣ Eb(x,t) ✐♥❝✐❞❡♥t ❞❡♣✉✐s ❧❡ ❞❡♠✐✲❡s♣❛❝❡ x > 0✱ ❝❡s ❝♦❡✣❝✐❡♥ts
s♦♥t r❡s♣❡❝t✐✈❡♠❡♥t τ ′ ❡t ρ′✳ ❙❛♥s ♣❡rt❡ ❞❡ ❣é♥ér❛❧✐té✱ ♦♥ ♣♦✉rr❛ s✉♣♣♦s❡r ❝❡s q✉❛tr❡ ❝♦❡✣❝✐❡♥ts ré❡❧s✱
❛✈❡❝ τ > 0 ❡t τ ′ > 0✳ ▲❡s ❝❤❛♠♣s q✉✐tt❛♥t ❧❡ ♠✐r♦✐r ❞❛♥s ❧❡s ❞✐r❡❝t✐♦♥s x < 0 ❡t x > 0 s♦♥t r❡s♣❡❝t✐✈❡♠❡♥t
♥♦tés Eo(x,t) ❡t Ec(x,t)✳
❖♥ ❝♦♠♠❡♥❝❡ ♣❛r ❝♦♥s✐❞ér❡r ❝❡ ♠✐r♦✐r s❡✉❧✱ ❡♥ s✉♣♣♦s❛♥t q✉❡ ❧❡s ❝❤❛♠♣s ✐♥❝✐❞❡♥ts Ei(x,t) ❡t Eb(x,t) s♦♥t
❝♦♥trô❧és ✐♥❞é♣❡♥❞❛♠♠❡♥t✳

Q30. ❊①♣r✐♠❡r ❧❡s ❛♠♣❧✐t✉❞❡s ❝♦♠♣❧❡①❡s Eo(t) ❡t Ec(t) ❡♥ ❢♦♥❝t✐♦♥ ❞❡ Ei✱ Eb(t)✱ τ ✱ ρ✱ τ ′ ❡t ρ′✳

Q31. P❛r ✉♥ ❛r❣✉♠❡♥t ❞❡ ❝♦♥s❡r✈❛t✐♦♥ ❞❡ ❧✬é♥❡r❣✐❡✱ ♠♦♥tr❡r q✉✬♦♥ ❞♦✐t ❛✈♦✐r ρ2 + τ2 = 1✱ ρ′2 + τ ′2 = 1✱
τ = τ ′ ❡t ρ = −ρ′✳ ❉❛♥s ❧❛ s✉✐t❡ ♦♥ ♣r❡♥❞r❛ τ = τ ′ =

√
T ❡t ρ = −ρ′ =

√
1− T > 0✳

❖♥ t✐❡♥t ♠❛✐♥t❡♥❛♥t ❝♦♠♣t❡ ❞❡ ❧❛ ♣rés❡♥❝❡ ❞✉ ♠✐r♦✐r ▼❋ ❞❡ ✜♥ ❞❡ ❝❛✈✐té✳ ❖♥ ❝♦♥s✐❞èr❡ q✉❡ ❝❡ ♠✐r♦✐r
❡st ♣❛r❢❛✐t❡♠❡♥t ré✢é❝❤✐ss❛♥t ❡t q✉❡ s♦♥ ❝♦❡✣❝✐❡♥t ❞❡ ré✢❡①✐♦♥ ❡♥ ❛♠♣❧✐t✉❞❡ ❞❛♥s ❧❛ ❞✐r❡❝t✐♦♥ x < 0
✈❛✉t −1✳ ▲❛ ❞✐st❛♥❝❡ ❡♥tr❡ ❧❡ ♠✐r♦✐r ▼❊ ❡t ❧❡ ♠✐r♦✐r ▼❋ ❡st ♥♦té❡ L(t)✳ ❙❡s ✈❛r✐❛t✐♦♥s s♦♥t très ❧❡♥t❡s
♣❛r r❛♣♣♦rt ❛✉ t❡♠♣s ♥é❝❡ss❛✐r❡ à ❧❛ ❧✉♠✐èr❡ ♣♦✉r ❢❛✐r❡ ✉♥ ❛❧❧❡r✲r❡t♦✉r ❞❛♥s ❧❛ ❝❛✈✐té✱ ❡t ♦♥ ♣♦✉rr❛ ❧❛
❝♦♥s✐❞ér❡r ❝♦♠♠❡ ❝♦♥st❛♥t❡ ♣❡♥❞❛♥t ❝❡ t❡♠♣s✳

Q32. ▼♦♥tr❡r q✉❡ Ec(t) = −Eb(t+ tL)e
−iωtL ❛✈❡❝ ✉♥ t❡♠♣s tL q✉❡ ❧✬♦♥ ❡①♣r✐♠❡r❛ ❡♥ ❢♦♥❝t✐♦♥ ❞❡ L(t)✳

❖♥ s✉♣♣♦s❡ q✉❡ L = L0 + x(t) ♦ù L0 = nλ/2 ❛✈❡❝ n ❡♥t✐❡r ❡t x(t) ❡st ✉♥ ♣❡t✐t ❞é♣❧❛❝❡♠❡♥t ✈ér✐✜❛♥t
x(t) ≪ λ ≪ L0✳ P❛r ❛✐❧❧❡✉rs✱ ❧❡s ✈❛r✐❛t✐♦♥s t❡♠♣♦r❡❧❧❡s ❞❡ ❧✬❡♥✈❡❧♦♣♣❡ Eb(t) s♦♥t très ❧❡♥t❡s ❞❡✈❛♥t L/c✳

Q33. ❖♥ ❝❤❡r❝❤❡ à s✐♠♣❧✐✜❡r ❧✬❡①♣r❡ss✐♦♥ ❞❡ Ec(t) ❞❡ ❧❛ q✉❡st✐♦♥ ♣ré❝é❞❡♥t❡ ❡♥ t❡♥❛♥t ❝♦♠♣t❡ ❞❡s ❤②✲
♣♦t❤ès❡s ❝✐✲❞❡ss✉s✳ ❉é✈❡❧♦♣♣❡r ❧❡ ❢❛❝t❡✉r −Eb(t + tL) à ❧✬♦r❞r❡ 1 ❡♥ tL✱ ❡♥ ❡①♣r✐♠❛♥t tL à ❧✬♦r❞r❡ 0 ❡♥

✾



x(t)/L0✳ ❱ér✐✜❡r ❡♥s✉✐t❡ q✉❡ e−iωtL = e−2ikx(t) ❡t ❞é✈❡❧♦♣♣❡r ❝❡tt❡ ❢♦♥❝t✐♦♥ ❡①♣♦♥❡♥t✐❡❧❧❡ à ❧✬♦r❞r❡ 1 ❡♥
kx(t)✳ ❉ét❡r♠✐♥❡r ❡♥✜♥ ❧✬❡①♣r❡ss✐♦♥ ❛♣♣r♦❝❤é❡ ❞❡ Ec(t) ❡♥ ❢❛✐s❛♥t ❧❡ ♣r♦❞✉✐t ❞❡ ❝❡s ❞❡✉① ❞é✈❡❧♦♣♣❡♠❡♥ts
❡t ❡♥ ♥é❣❧✐❣❡❛♥t ❧❡ ♣r♦❞✉✐t ❞❡s ✐♥✜♥✐♠❡♥t ♣❡t✐ts✳

Q34. ▼♦♥tr❡r q✉❡ Eb(t) ❡①♣r✐♠é ♦❜é✐t✱ à ❝❡t ♦r❞r❡ ❞✬❛♣♣r♦①✐♠❛t✐♦♥✱ à ✉♥❡ éq✉❛t✐♦♥ ❞✐✛ér❡♥t✐❡❧❧❡ ❞❡ ❧❛
❢♦r♠❡

dEb

dt
= −κ

[

τ

1− ρ
Ei +

(

1− ix(t)

Λ

)

Eb(t)

]

. ✭✷✶✮

❉ét❡r♠✐♥❡r ❧❡s ❝♦♥st❛♥t❡s κ ❡t Λ ❡♥ ❢♦♥❝t✐♦♥ ❞❡s ♣❛r❛♠ètr❡s ❞✉ ♣r♦❜❧è♠❡✳ P♦✉r T ≪ 1✱ s✐♠♣❧✐✜❡r ❧❡✉rs
❡①♣r❡ss✐♦♥s ❡♥ ❧❡s ❞é✈❡❧♦♣♣❛♥t à ❧✬♦r❞r❡ 1 ❡♥ T ✳

❖♥ s✉♣♣♦s❡ ❞✬❛❜♦r❞ q✉❡ ∀t, x(t) = 0✳

Q35. ❉ét❡r♠✐♥❡r ❧❛ s♦❧✉t✐♦♥ st❛t✐♦♥♥❛✐r❡ Eb✳ ➱✈❛❧✉❡r ♥✉♠ér✐q✉❡♠❡♥t ❧❛ ♣✉✐ss❛♥❝❡ Pb,max ❝✐r❝✉❧❛♥t ❞❛♥s
❧❛ ❝❛✈✐té ♣♦✉r T = 1,4% s✐ ❧❛ ♣✉✐ss❛♥❝❡ ✐♥❝✐❞❡♥t❡ ✈❛✉t Pi = 100 ❲✳

Q36. ❖♥ s✉♣♣♦s❡ ❝❡ ré❣✐♠❡ st❛t✐♦♥♥❛✐r❡ ét❛❜❧✐ ♣♦✉r t < 0✳ ➚ t = 0✱ ♦♥ ét❡✐♥t ❜r✉t❛❧❡♠❡♥t ❧❡ ❝❤❛♠♣
✐♥❝✐❞❡♥t ✭Ei 6= 0 ❝♦♥st❛♥t ♣♦✉r t < 0✱ Ei = 0 ♣♦✉r t > 0✮✳ ❉ét❡r♠✐♥❡r ❧✬é✈♦❧✉t✐♦♥ t❡♠♣♦r❡❧❧❡ ❞❡ Eb(t) ❡t
❝❡❧❧❡ ❞❡ ❧❛ ♣✉✐ss❛♥❝❡ ✐♥tr❛❝❛✈✐té Pb(t) ♣♦✉r t > 0✳

❖♥ s✉♣♣♦s❡ ♠❛✐♥t❡♥❛♥t q✉❡ ∀t, x(t) = x0 ❝♦♥st❛♥t✳

Q37. ❉ét❡r♠✐♥❡r ❧❛ s♦❧✉t✐♦♥ st❛t✐♦♥♥❛✐r❡ Eb✱ ❡t ❡①♣r✐♠❡r ❧❛ ♣✉✐ss❛♥❝❡ ✐♥tr❛❝❛✈✐té Pb ❡♥ ❢♦♥❝t✐♦♥ ❞❡ ❧❛
♣✉✐ss❛♥❝❡ ✐♥❝✐❞❡♥t❡ Pi ❡t ❞❡s ♣❛r❛♠ètr❡s ❞✉ ♣r♦❜❧è♠❡✳ ❉ét❡r♠✐♥❡r x0 t❡❧ q✉❡ Pb = Pb,max/2 ♦ù Pb,max

❡st ❧❛ ♣✉✐ss❛♥❝❡ ❞ét❡r♠✐♥é❡ ♣♦✉r x0 = 0 à ❧❛ q✉❡st✐♦♥ ✸✺✳ P♦✉r T = 1,4% ❡t λ = 1064 ♥♠✱ é✈❛❧✉❡r
♥✉♠ér✐q✉❡♠❡♥t ❧❛ ♣ré❝✐s✐♦♥ t②♣✐q✉❡ ❛✈❡❝ ❧❛q✉❡❧❧❡ ♦♥ ❞♦✐t ❝♦♥trô❧❡r ❧❛ ❧♦♥❣✉❡✉r ❞❡ ❧❛ ❝❛✈✐té ♣♦✉r q✉✬❡❧❧❡
r❡st❡ à rés♦♥❛♥❝❡✳

❖♥ s✉♣♣♦s❡ ❡♥✜♥ q✉❡ x(t) ♦s❝✐❧❧❡ s♦✉s ❧✬❡✛❡t ❞✬✉♥❡ ♦♥❞❡ ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡ ♦✉ ❞✬✉♥❡ ❛✉tr❡ ♣❡rt✉r❜❛t✐♦♥ ❞❡
♣✉❧s❛t✐♦♥ Ω✱ ❡t ♦♥ ♣♦s❡ x(t) = x0 cos(Ωt)✳ ❊♥ ré❣✐♠❡ ❢♦r❝é✱ ♦♥ ❝❤❡r❝❤❡ ❧❡s s♦❧✉t✐♦♥s Eb(t) s♦✉s ❧❛ ❢♦r♠❡

Eb(t) = E
(0)
b + E

(+)
b e−iΩt + E

(−)
b eiΩt ✭✷✷✮

♦ù ❧❡s ❛♠♣❧✐t✉❞❡s ❞❡s ❜❛♥❞❡s ❧❛tér❛❧❡s E
(+)
b ❡t E(−)

b s♦♥t très ♣❡t✐t❡s ❞❡✈❛♥t ❝❡❧❧❡ ❞❡ ❧❛ ♣♦rt❡✉s❡ E
(0)
b ✳

Q38. ❱ér✐✜❡r q✉❡✱ ♣♦✉r ✉♥ s✐❣♥❛❧ t②♣✐q✉❡ x0 ≈ L0 × 10−21 ♣r♦❞✉✐t ♣❛r ✉♥❡ ♦♥❞❡ ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡✱ ❛✈❡❝
L0 = 4000 ♠✱ λ = 1064 ♥♠✱ ❡t T = 1,4% ♦♥ ❛ é❣❛❧❡♠❡♥t x0/Λ ≪ 1✳ ▼♦♥tr❡r q✉✬❡♥ ♥é❣❧✐❣❡❛♥t ❧❡s ♣r♦❞✉✐ts

❡♥tr❡ ❧❡s ♣❡t✐t❡s q✉❛♥t✐tés x0/Λ ❡t E(±)
b /E

(0)
b ♦♥ ♦❜t✐❡♥t

E
(0)
b = − τ

1− ρ
Ei ✭✷✸✮

E
(±)
b = −i

τ

1− ρ

x0

2Λ

1

1∓ iΩ/κ
Ei ✭✷✹✮

♦ù ❧❡s ❝♦♥st❛♥t❡s κ ❡t Λ ♦♥t été ✐♥tr♦❞✉✐t❡s ❞❛♥s ❧❛ q✉❡st✐♦♥ ✸✹✳

Q39. ❚r❛❝❡r ❧✬❛❧❧✉r❡ ❞❡ log10(|E
(±)
b /Ei|2) ❡♥ ❢♦♥❝t✐♦♥ ❞❡ log10(Ω)✳ ❊①♣r✐♠❡r ❧❛ ♣✉❧s❛t✐♦♥ ❞❡ ❝♦✉♣✉r❡ à

−3 ❞❇ ❞❡ ❝❡tt❡ ❢♦♥❝t✐♦♥ ❞❡ ✜❧tr❛❣❡ ❡t ❧✬é✈❛❧✉❡r ♥✉♠ér✐q✉❡♠❡♥t ♣♦✉r T = 1,4% ❡t L0 = 4000 ♠✳

Q40. ❊①♣r✐♠❡r ❧✬❛♠♣❧✐t✉❞❡ ❝♦♠♣❧❡①❡ Eo(t) ❞✉ ❝❤❛♠♣ ré✢é❝❤✐ ♣❛r ❧❛ ❝❛✈✐té ❡♥ ❢♦♥❝t✐♦♥ ❞❡ Ei✳ ❊♥ s✉♣✲
♣♦s❛♥t q✉❡ Ω ❡st très ✐♥❢ér✐❡✉r❡ à ❧❛ ♣✉❧s❛t✐♦♥ ❞❡ ❝♦✉♣✉r❡ ❞ét❡r♠✐♥é❡ ❞❛♥s ❧❛ q✉❡st✐♦♥ ♣ré❝é❞❡♥t❡ ❡t ❡♥
❞é✈❡❧♦♣♣❛♥t ρ à ❧✬♦r❞r❡ 1 ❡♥ T ✱ ♠♦♥tr❡r q✉❡ s♦♥ ❡①♣r❡ss✐♦♥ ♣❡✉t êtr❡ s✐♠♣❧✐✜é❡ ❡♥

Eo(t) = −
(

1 +
2ix0

Λ
cos(Ωt)

)

Ei ✭✷✺✮

✷✳✸ ■♥t❡r❢ér♦♠ètr❡ ❞❡ ▼✐❝❤❡❧s♦♥

❖♥ ❝♦♥s✐❞èr❡ ♠❛✐♥t❡♥❛♥t ❧✬❡♥s❡♠❜❧❡ ❞✉ s②stè♠❡ ♦♣t✐q✉❡✱ ♦ù ❧❡s ❞❡✉① rés♦♥❛t❡✉rs ♦♣t✐q✉❡s ♠♦❞é❧✐sés ❝✐✲
❞❡ss✉s s♦♥t ✐♥té❣rés ❞❛♥s ✉♥ ✐♥t❡r❢ér♦♠ètr❡ ❞❡ ▼✐❝❤❡❧s♦♥✳ ❖♥ ❝❤♦✐s✐t ❧❛ ♣♦s✐t✐♦♥ ❞❡ ❧❛ ❧❛♠❡ sé♣❛r❛tr✐❝❡
s❡♠✐✲ré✢é❝❤✐ss❛♥t❡ ❞❡ ❝❡t ✐♥t❡r❢ér♦♠ètr❡ ❝♦♠♠❡ ♦r✐❣✐♥❡ ❞❡s ❝♦♦r❞♦♥♥é❡s Oxy✱ ♦ù ❧❡s ✈❡❝t❡✉rs ❞✐r❡❝t❡✉rs

✶✵



❞❡s ❛①❡s Ox ❡t Oy s♦♥t ♥♦tés r❡s♣❡❝t✐✈❡♠❡♥t ~ex ❡t ~ey✳ ▲❡s ❞✐st❛♥❝❡s ❡♥tr❡ ❝❡tt❡ ❧❛♠❡ sé♣❛r❛tr✐❝❡ ❡t ❧❡s
♠✐r♦✐rs ▼❊① ❡t ▼❊②✱ s✉♣♣♦sé❡s ✜①❡s✱ ✈❛❧❡♥t r❡s♣❡❝t✐✈❡♠❡♥t lx = λ[n′ + θ/(4π)] ❡t ly = λ[n′ − θ/(4π)] ♦ù
n′ ❡st ❡♥t✐❡r ❡t θ ∈]− π,π] ❡st ✉♥ ♣❛r❛♠ètr❡ ❝♦♥trô❧é ♣❛r ❧✬❡①♣ér✐♠❡♥t❛t❡✉r✳ ▲❡s ❝♦♥✈❡♥t✐♦♥s ❞❡ ♥♦t❛t✐♦♥
❡t ❧❡s ❤②♣♦t❤ès❡s s✉r ❧❡s ❝❤❛♠♣s ♦♣t✐q✉❡s s♦♥t ❧❡s ♠ê♠❡s q✉❡ ♣ré❝é❞❡♠♠❡♥t✳
▲✬♦♥❞❡ ❧✉♠✐♥❡✉s❡ E0(~r,t) = E0e

−i(ωt−~k.~r) = E0e
−i(ωt−kx) é♠✐s❡ ♣❛r ❧❡ ❧❛s❡r ❡st ❞✐✈✐sé❡ s✉r ❧❛ ❧❛♠❡ sé♣❛✲

r❛tr✐❝❡ ♦r✐❡♥té❡ à 45◦ ♣❛r r❛♣♣♦rt à s❛ ❞✐r❡❝t✐♦♥ ❞❡ ♣r♦♣❛❣❛t✐♦♥✳ ▲❡s ❝❤❛♠♣s ❡♥✈♦②és ✈❡rs ❧❡s rés♦♥❛t❡✉rs
♦❜é✐ss❡♥t à

Eix(~0,t) = Eiy(~0,t) =
E0(~0,t)√

2
✭✷✻✮

t❛♥❞✐s q✉❡ ❧❡ ❝❤❛♠♣ ❡♥✈♦②é ✈❡rs ❧❡ ❞ét❡❝t❡✉r ♦♣t✐q✉❡ ❡st ❞♦♥♥é ♣❛r

ED(~0,t) =
Eoy(~0,t)− Eox(~0,t)√

2
. ✭✷✼✮

❙♦✉s ❧✬❡✛❡t ❞✬✉♥❡ ♦♥❞❡ ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡✱ ❧❡s ❧♦♥❣✉❡✉rs Lx ❡t Ly ❞❡s ❞❡✉① rés♦♥❛t❡✉rs ♦s❝✐❧❧❡♥t ❡♥ ♦♣♣♦s✐t✐♦♥
❞❡ ♣❤❛s❡ ✿ Lx(t) = L0 + x0 cos(Ωt) ❡t Ly(t) = L0 − x0 cos(Ωt)✳

Q41. ❉ét❡r♠✐♥❡r ❧❡s ❡①♣r❡ss✐♦♥s ❞❡s ❝❤❛♠♣s Eix(lx~ex,t) ❡t Eiy(ly~ey,t) ✐♥❝✐❞❡♥ts s✉r ❧❡s rés♦♥❛t❡✉rs ❡♥
❢♦♥❝t✐♦♥ ❞❡ E0 ❡t ❞❡ ❝♦♥st❛♥t❡s ❞✉ ♣r♦❜❧è♠❡✳

Q42. ❉ét❡r♠✐♥❡r ❧❡s ❡①♣r❡ss✐♦♥s ❞❡s ❝❤❛♠♣s Eox(lx~ex,t) ❡t Eoy(ly~ey,t) s♦rt❛♥t ❞❡s rés♦♥❛t❡✉rs ❡♥ ❢♦♥❝t✐♦♥
❞❡ E0 ❡t ❞❡ ❝♦♥st❛♥t❡s ❞✉ ♣r♦❜❧è♠❡✳ ❖♥ ♣♦✉rr❛ ✉t✐❧✐s❡r ❧✬❡①♣r❡ss✐♦♥ s✐♠♣❧✐✜é❡ ♦❜t❡♥✉❡ à ❧❛ q✉❡st✐♦♥ ✹✵✳

Q43. ▲❡s ♦s❝✐❧❧❛t✐♦♥s ❞❡s ♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s s♦♥t s✉✣s❛♠♠❡♥t ❧❡♥t❡s ♣♦✉r ♥♦✉s ♣❡r♠❡ttr❡ ❞❡ s✉♣✲
♣♦s❡r Ωlx/c ≈ Ωly/c ≈ 0✳ ❊①♣r✐♠❡r Eox(~0,t) ❡t Eoy(~0,t) ❡♥ ❢♦♥❝t✐♦♥ ❞❡s ♠ê♠❡s ❣r❛♥❞❡✉rs ❡t ❞ét❡r♠✐♥❡r
❧✬❡①♣r❡ss✐♦♥ ❞✉ ❝❤❛♠♣ ED(~0,t) ❡♥✈♦②é ✈❡rs ❧❡ ❞ét❡❝t❡✉r ♦♣t✐q✉❡✳

Q44. ❉ét❡r♠✐♥❡r ❧✬❡①♣r❡ss✐♦♥ ❞❡ ❧❛ ♣✉✐ss❛♥❝❡ PD ❡♥✈♦②é❡ ✈❡rs ❧❡ ❞ét❡❝t❡✉r ♦♣t✐q✉❡ ❡♥ ❢♦♥❝t✐♦♥ ❞❡ ❧❛
♣✉✐ss❛♥❝❡ P0 ♣r♦❞✉✐t❡ ♣❛r ❧❡ ❧❛s❡r✱ ❞❡ ❧❛ ♣❤❛s❡ θ✱ ❞✉ s✐❣♥❛❧ x(t) ❡t ❞❡ ❧❛ ❝♦♥st❛♥t❡ Λ✳ P♦✉r ✉♥❡ ♦♥❞❡ ❣r❛✈✐✲
t❛t✐♦♥♥❡❧❧❡ ❞✬❛♠♣❧✐t✉❞❡ hG ❧✬❛♠♣❧✐t✉❞❡ ❞❡s ♦s❝✐❧❧❛t✐♦♥s ❞✉ ♠✐r♦✐r ✈❛✉t x0 = L0hG/2✳ ▼♦♥tr❡r ❞❛♥s ❝❡ ❝❛s
q✉❡ ♣♦✉r ❛✉❣♠❡♥t❡r ❧❛ s❡♥s✐❜✐❧✐té ❞❡ ❝❡ ❞ét❡❝t❡✉r ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s ♦♥ ♣❡✉t ❞❡ ♠❛♥✐èr❡ éq✉✐✈❛❧❡♥t❡
❛❧❧♦♥❣❡r ❧❛ ❧♦♥❣✉❡✉r L0 ❞❡ ❧❛ ❝❛✈✐té ♦✉ ❞✐♠✐♥✉❡r ❧❛ tr❛♥s♠✐ss✐♦♥ T ❞✉ ♠✐r♦✐r ❞✬❡♥tré❡✳ ◗✉✬❛rr✐✈❡✲t✲✐❧ ❛❧♦rs
à s❛ ❜❛♥❞❡ ♣❛ss❛♥t❡ ❄

Q45. P♦✉r θ = 0 ❡t P0 = 200 ❲✱ ❡st✐♠❡r ❧❛ ♣✉✐ss❛♥❝❡ ♠❛①✐♠❛❧❡ Pmax ❡♥✈♦②é❡ ✈❡rs ❧❡ ❞ét❡❝t❡✉r ♦♣t✐q✉❡
❛✉ ♣❛ss❛❣❡ ❞✬✉♥ s✐❣♥❛❧ ❣r❛✈✐t❛t✐♦♥♥❡❧✱ ❡t ❝♦♥✈❡rt✐r ❝❡tt❡ ♣✉✐ss❛♥❝❡ ❡♥ ♥♦♠❜r❡ ❞❡ ♣❤♦t♦♥s ❞ét❡❝tés ♣❛r
s❡❝♦♥❞❡ Φmax✳ ❖♥ r❛♣♣❡❧❧❡ q✉❡ ❞❛♥s ❝❡ ❝❛s x0 = L0hG/2 ❛✈❡❝ L0 = 4000 ♠✱ hG ≈ 10−21✱ λ = 1064 ♥♠
❡t T = 1,4%✳

✸ ▲✐♠✐t❡s q✉❛♥t✐q✉❡s à ❧❛ s❡♥s✐❜✐❧✐té ❞❡s ❞ét❡❝t❡✉rs

▲❡s ❞ét❡❝t❡✉rs ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s r❡q✉✐èr❡♥t ✉♥❡ t❡❝❤♥♦❧♦❣✐❡ ❞❡ ♣♦✐♥t❡ ❞❛♥s t♦✉s ❧❡s ❞♦♠❛✐♥❡s
❞❡ ❧✬✐♥❣é♥✐❡r✐❡✳ ▲❡s ✈✐❜r❛t✐♦♥s ♠é❝❛♥✐q✉❡s✱ ❧❡s ✢✉❝t✉❛t✐♦♥s ❞❡ ♣r❡ss✐♦♥ ❞❡ ❧✬❛✐r✱ ❧❡s ❜r✉✐ts t❤❡r♠✐q✉❡s
❞❛♥s ❧❡s ♠✐r♦✐rs ❡t ❧❡s ✜❧s ❞❡ s✉s♣❡♥s✐♦♥✱ ❡t❝✱ ♣♦✉rr❛✐❡♥t ❛✐sé♠❡♥t ♠❛sq✉❡r ❧❡s ❢❛✐❜❧❡s s✐❣♥❛✉① ❞❡s ♦♥❞❡s
❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s✳
❉❛♥s ❝❡tt❡ ♣❛rt✐❡ ♥♦✉s ❛❧❧♦♥s ✈♦✐r q✉❡ ❧✬✉♥❡ ❞❡s ❧✐♠✐t❡s à ❧❛ s❡♥s✐❜✐❧✐té ❞❡ ▲■●❖ ♣r♦✈✐❡♥t ❞❡ ❧❛ ♥❛t✉r❡
q✉❛♥t✐q✉❡ ❞❡ ❧❛ ❧✉♠✐èr❡✳ ▲❛ st❛t✐st✐q✉❡ ❞❡s ♣❤♦t♦♥s é♠✐s ♣❛r ✉♥ ❧❛s❡r ❡♥ ré❣✐♠❡ ✏♥♦r♠❛❧✑ ❞❡ ❢♦♥❝t✐♦♥♥❡✲
♠❡♥t ❡st ❞é❝r✐t❡ ♣❛r ✉♥❡ ❞✐str✐❜✉t✐♦♥ ❞❡ ♣r♦❜❛❜✐❧✐tés P♦✐ss♦♥♥✐❡♥♥❡✳ P♦✉r ✉♥ ❢❛✐s❝❡❛✉ ❛✈❡❝ ✉♥ ✢✉① ♠♦②❡♥
❞❡ ♣❤♦t♦♥s Φ✱ ❧❛ ♣r♦❜❛❜✐❧✐té ❞❡ ❞ét❡❝t❡r m ♣❤♦t♦♥s ♣❡♥❞❛♥t ✉♥ ✐♥t❡r✈❛❧❧❡ ❞❡ t❡♠♣s t ✈❛✉t ❛❧♦rs

Q(m,t) = e−Φt (Φt)
m

m!
✭✷✽✮

✸✳✶ ❇r✉✐t ❞❡ ❣r❡♥❛✐❧❧❡

Q46. ❘❡❧✐❡r ❧❡ ✢✉① ❞❡ ♣❤♦t♦♥s ♠♦②❡♥ Φ à ❧❛ ♣✉✐ss❛♥❝❡ ♠♦②❡♥♥❡ P ❞✉ ❢❛✐s❝❡❛✉ ❡t à s❛ ❧♦♥❣✉❡✉r ❞✬♦♥❞❡
λ✳ ❱ér✐✜❡r q✉❡ ❧✬éq✉❛t✐♦♥ ✷✽ ❞♦♥♥❡ ❜✐❡♥ 〈m〉 = Φt ♣♦✉r ❧❛ ✈❛❧❡✉r ♠♦②❡♥♥❡ 〈m〉 ❞✉ ♥♦♠❜r❡ ❞❡ ♣❤♦t♦♥s

❞ét❡❝tés ♣❡♥❞❛♥t ✉♥ t❡♠♣s t✱ ❡t q✉❡ ❧✬é❝❛rt✲t②♣❡ ∆m =

√

〈m2〉 − 〈m〉2 ❞❡ ❝❡ ♥♦♠❜r❡ ❞❡ ♣❤♦t♦♥s ✈ér✐✜❡

∆m =
√

〈m〉 =
√
Φt✳

✶✶



Q47. ❈❡ ❢❛✐s❝❡❛✉ ❡st ❡♥✈♦②é s✉r ✉♥ ♠✐r♦✐r ♣❛rt✐❡❧❧❡♠❡♥t ré✢é❝❤✐ss❛♥t s❛♥s ♣❡rt❡s ❛✈❡❝ ✉♥ ❝♦❡✣❝✐❡♥t ❞❡
tr❛♥s♠✐ss✐♦♥ T ❡♥ ✐♥t❡♥s✐té ✿ T ❡st ❞♦♥❝ ❧❛ ♣r♦❜❛❜✐❧✐té ♣♦✉r q✉✬✉♥ ♣❤♦t♦♥ ❞♦♥♥é s♦✐t tr❛♥s♠✐s à tr❛✈❡rs
❧❡ ♠✐r♦✐r✳ ❉ét❡r♠✐♥❡r ❧❡s ✢✉① ♠♦②❡♥s ❞❡ ♣❤♦t♦♥s ΦT ❡t ΦR ❞❛♥s ❧❡s ❢❛✐s❝❡❛✉① tr❛♥s♠✐s ❡t ré✢é❝❤✐✳ P♦✉r
❡①❛❝t❡♠❡♥t k+l ♣❤♦t♦♥s ✐♥❝✐❞❡♥ts✱ q✉❡❧❧❡ ❡st ❧❛ ♣r♦❜❛❜✐❧✐té ♣♦✉r q✉❡ k ♣❤♦t♦♥s s♦✐❡♥t tr❛♥s♠✐s ❡t l ♣❤♦t♦♥s
s♦✐❡♥t ré✢é❝❤✐s ❄ ❈❡ ♥♦♠❜r❡ ❞❡ ♣❤♦t♦♥s ✐♥❝✐❞❡♥ts ét❛♥t ❡♥ ré❛❧✐té ❞é❝r✐t ♣❛r ❧❛ st❛t✐st✐q✉❡ P♦✐ss♦♥♥✐❡♥♥❡
❞é✜♥✐❡ ♣❛r ❧✬éq✉❛t✐♦♥ ✷✽✱ ❝❛❧❝✉❧❡r ❧❛ ♣r♦❜❛❜✐❧✐té P (k,l,t) ❞❡ tr♦✉✈❡r k ♣❤♦t♦♥s ❞❛♥s ❧❡ ❢❛✐s❝❡❛✉ tr❛♥s♠✐s
❡t l ♣❤♦t♦♥s ❞❛♥s ❧❡ ❢❛✐s❝❡❛✉ ré✢é❝❤✐ ♣❡♥❞❛♥t ✉♥ t❡♠♣s t✱ ❡t ♠♦♥tr❡r q✉❡ ❧❡s ❢❛✐s❝❡❛✉① tr❛♥s♠✐s ❡t ré✢é❝❤✐
s♦♥t ❞é❝r✐ts ♣❛r ❞❡s ❞✐str✐❜✉t✐♦♥s ❞❡ ♣r♦❜❛❜✐❧✐té P♦✐ss♦♥♥✐❡♥♥❡s ❞é❝♦rré❧é❡s✳

Q48. ❱ér✐✜❡r q✉❡ s✐ 〈m〉 ≫ 1 ❛❧♦rs ∆m ≪ 〈m〉✳ ▼♦♥tr❡r q✉✬à ❧✬♦r❞r❡ ✶ ❡♥ ∆m/ 〈m〉
〈√

m
〉

=
√

〈m〉, ✭✷✾✮

∆
√
m =

√

〈

(
√
m)2

〉

−
〈√

m
〉2

=
1

2
. ✭✸✵✮

P♦✉r ② ♣❛r✈❡♥✐r ♦♥ ♣❡♥s❡r❛ à ❞é✈❡❧♦♣♣❡r ❧❛ ❢♦♥❝t✐♦♥
√
m =

√

〈m〉+ (m− 〈m〉) ❛✉ ✈♦✐s✐♥❛❣❡ ❞❡ 〈m〉✳

P♦✉r ❝♦♠♣r❡♥❞r❡ ❧❡ rô❧❡ ❞❡s ✢✉❝t✉❛t✐♦♥s ❞✉ ♥♦♠❜r❡ ❞❡ ♣❤♦t♦♥s✱ ❧❡ ❞ét❡❝t❡✉r ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s s❡r❛
♠♦❞é❧✐sé ✐❝✐ ❞❡ ♠❛♥✐èr❡ ♣❧✉s é❧é♠❡♥t❛✐r❡ q✉❡ ❞❛♥s ❧❛ ♣❛rt✐❡ ✷✳ ◆♦✉s ❝♦♥s✐❞ér❡r♦♥s q✉✬✐❧ s✬❛❣✐t ❞✬✉♥ s✐♠♣❧❡
✐♥t❡r❢ér♦♠ètr❡ ❞❡ ▼✐❝❤❡❧s♦♥✱ ❞♦♥t ❧❛ sé♣❛r❛tr✐❝❡ s❡♠✐✲ré✢é❝❤✐ss❛♥t❡ ❡st ♣❧❛❝é❡ à ❧✬♦r✐❣✐♥❡ ❞❡s ❝♦♦r❞♦♥♥é❡s
Oxy ❡t ♦r✐❡♥té❡ à 45◦ ♣❛r r❛♣♣♦rt à ❧❛ ❞✐r❡❝t✐♦♥ ❞❡ ♣r♦♣❛❣❛t✐♦♥ Ox ❞✬✉♥ ❢❛✐s❝❡❛✉ ❧❛s❡r ✐♥❝✐❞❡♥t s✉r ❝❡tt❡
❧❛♠❡✳ ▲❡s ❜r❛s ❞❡ ❧✬✐♥t❡r❢ér♦♠ètr❡✱ ♦r✐❡♥tés s✉✐✈❛♥t ❧❡s ❛①❡s Ox ❡t Oy✱ ♦♥t ❞❡s ❧♦♥❣✉❡✉rs r❡s♣❡❝t✐✈❡s

Lx = L0(1 + hG/2) + λθ/(4π), ✭✸✶✮

Ly = L0(1− hG/2)− λθ/(4π) ✭✸✷✮

♦ù L0 ❡st ❧❛ ❧♦♥❣✉❡✉r ❛✉ r❡♣♦s✱ hG ❡st ❧❡ s✐❣♥❛❧ ❞❡ ❧✬♦♥❞❡ ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡ q✉❡ ❧✬♦♥ ❝❤❡r❝❤❡ à ❞ét❡❝t❡r ❡t ❞♦♥t
❧❛ s✐❣♥✐✜❝❛t✐♦♥ ❡st ❞✐s❝✉té❡ ❞❛♥s ❧❛ ♣❛rt✐❡ ✶✱ ❡t θ ∈]− π,π] ❡st ✉♥❡ ♣❤❛s❡ ❝♦♥trô❧é❡ ♣❛r ❧✬❡①♣ér✐♠❡♥t❛t❡✉r✳
❆✉① ❡①tré♠✐tés ❞❡s ❜r❛s ❞❡ ❧✬✐♥t❡r❢ér♦♠ètr❡ s♦♥t ♣❧❛❝és ❞❡s ♠✐r♦✐rs ♣❛r❢❛✐ts ❞♦♥t ❧❡s ❝♦❡✣❝✐❡♥ts ❞❡ ré✢❡①✐♦♥
❡♥ ❛♠♣❧✐t✉❞❡ ✈❛❧❡♥t −1✳ ◆♦✉s ♥♦✉s ♣❧❛❝❡r♦♥s ❞❛♥s ❧❛ ❧✐♠✐t❡ q✉❛s✐✲st❛t✐q✉❡✱ ❝❡ q✉✐ s✐❣♥✐✜❡ q✉❡ ♥♦✉s
s✉♣♣♦s❡r♦♥s hG ❝♦♥st❛♥t ❛✉① é❝❤❡❧❧❡s ❞❡ t❡♠♣s ❝♦♥s✐❞éré❡s ❞❛♥s ❝❡tt❡ ♣❛rt✐❡✳
▲❛ ♣✉✐ss❛♥❝❡ ❞✉ ❧❛s❡r ❡st ♥♦té❡ P0✱ s❛ ❧♦♥❣✉❡✉r ❞✬♦♥❞❡ ❡st λ✳ ❈♦♠♠❡ ❞❛♥s ❧❛ ♣❛rt✐❡ ♣ré❝é❞❡♥t❡✱ ♦♥ tr❛✐t❡r❛
❧❡s ❢❛✐s❝❡❛✉① ❝♦♠♠❡ ❞❡s ♦♥❞❡s ♣❧❛♥❡s s❝❛❧❛✐r❡s s❡ ♣r♦♣❛❣❡❛♥t ❞❛♥s ❧❡ ✈✐❞❡✳ ❈❡s ♦♥❞❡s s❡r♦♥t ❡①♣r✐♠é❡s
❡♥ ♥♦t❛t✐♦♥ ❝♦♠♣❧❡①❡ s♦✉s ❧❛ ❢♦r♠❡

E(~r,t) = Ee−i(ωt−~k.~r) ✭✸✸✮

♦ù✱ ❞❛♥s ❧✬❤②♣♦t❤ès❡ q✉❛s✐✲st❛t✐q✉❡✱ ❧✬❛♠♣❧✐t✉❞❡ ❝♦♠♣❧❡①❡ E ❡st ❝♦♥st❛♥t❡✱ ❧❛ ♣✉❧s❛t✐♦♥ ω ❡st ❝❡❧❧❡ ❞✉
❧❛s❡r✱ ❡t ❧❡ ✈❡❝t❡✉r ❞✬♦♥❞❡ ~k ❡st ♣❛r❛❧❧è❧❡ à Ox ♦✉ Oy✳ ❆♣rès ❧❛ ❧❛♠❡ sé♣❛r❛tr✐❝❡✱ ❧❡s ❝❤❛♠♣s Eix ❡t Eiy
❡♥tr❛♥t ❞❛♥s ❧❡s ❜r❛s ❞❡ ❧✬✐♥t❡r❢ér♦♠ètr❡ s♦♥t r❡❧✐és ❛✉ ❝❤❛♠♣ E0 ♣r♦❞✉✐t ♣❛r ❧❡ ❧❛s❡r ✈✐❛

Eix(~0,t) = Eiy(~0,t) =
E0(~0,t)√

2
, ✭✸✹✮

t❛♥❞✐s q✉❡ ❧❡ ❝❤❛♠♣ ❡♥✈♦②é ✈❡rs ❧❡ ❞ét❡❝t❡✉r ♦♣t✐q✉❡ ❡st ❧✐é ❛✉① ❢❛✐s❝❡❛✉① r❡✈❡♥❛♥t ❞❡♣✉✐s ❧❡s ❜r❛s ❞❡
❧✬✐♥t❡r❢ér♦♠ètr❡ ✈✐❛

ED(~0,t) =
Eoy(~0,t)− Eox(~0,t)√

2
. ✭✸✺✮

Q49. ❉ét❡r♠✐♥❡r ❧✬❡①♣r❡ss✐♦♥ ❞✉ ❝❤❛♠♣ ED(~0,t) ❡♥ ❢♦♥❝t✐♦♥ ❞✉ ❝❤❛♠♣ E0(0,t) ♣r♦❞✉✐t ♣❛r ❧❡ ❧❛s❡r✱ ❞❡ ❧❛
♣❤❛s❡ θ✱ ❞✉ s✐❣♥❛❧ ❣r❛✈✐t❛t✐♦♥♥❡❧ hG✱ ❞❡ ❧❛ ❧♦♥❣✉❡✉r L0 ❞❡s ❜r❛s ❞❡ ❧✬✐♥t❡r❢ér♦♠ètr❡ ❡t ❞❡ ❧❛ ♥♦r♠❡ k ❞✉
✈❡❝t❡✉r ❞✬♦♥❞❡ q✉❡ ❧✬♦♥ r❡❧✐❡r❛ à ❧❛ ❧♦♥❣✉❡✉r ❞✬♦♥❞❡ λ✳ ❘❡❧✐❡r ❧❛ ♣✉✐ss❛♥❝❡ PD ❡♥✈♦②é❡ ✈❡rs ❧❡ ❞ét❡❝t❡✉r
♦♣t✐q✉❡ à ❧❛ ♣✉✐ss❛♥❝❡ P0 ❞✉ ❧❛s❡r✳

▲❛ ♥❛t✉r❡ q✉❛♥t✐q✉❡ ❞❡ ❧❛ ❧✉♠✐èr❡ r❡♥❞ ❧❡ s✐❣♥❛❧ ♠❡s✉ré ♣❛r ❧❡ ❞ét❡❝t❡✉r ♦♣t✐q✉❡ ❞✐s❝r❡t✱ ♣r♦♣♦rt✐♦♥♥❡❧
❛✉ ♥♦♠❜r❡ ❞❡ ♣❤♦t♦♥s mD ❞ét❡❝tés ♣❡♥❞❛♥t ❧❡ t❡♠♣s ❞✬é❝❤❛♥t✐❧❧♦♥♥❛❣❡ t ❝❤♦✐s✐✳ ❈❡ ♥♦♠❜r❡ ♦❜é✐t à
✉♥❡ st❛t✐st✐q✉❡ P♦✐ss♦♥♥✐❡♥♥❡✱ s❡s ✢✉❝t✉❛t✐♦♥s ✈♦♥t ❞♦♥❝ ✐♥❞✉✐r❡ ❞✉ ❜r✉✐t s✉r ❧✬❡st✐♠❛t✐♦♥ ❞❡ ❧✬♦♥❞❡
❣r❛✈✐t❛t✐♦♥♥❡❧❧❡ hG✱ ❛♣♣❡❧é ✏❜r✉✐t ❞❡ ❣r❡♥❛✐❧❧❡✑✳

✶✷



Q50. ❊①♣r✐♠❡r ❧❡ ✢✉① ❞❡ ♣❤♦t♦♥s ♠♦②❡♥ ΦD ❡♥✈♦②é ✈❡rs ❧❡ ❞ét❡❝t❡✉r ♦♣t✐q✉❡ ❡♥ ❢♦♥❝t✐♦♥ ❞✉ ✢✉① ❞❡
♣❤♦t♦♥s ♠♦②❡♥ Φ0 ♣r♦❞✉✐t ♣❛r ❧❡ ❧❛s❡r ❡t ❞❡s ♣❛r❛♠ètr❡s ❞❡ ❧❛ q✉❡st✐♦♥ ♣ré❝é❞❡♥t❡✳ ❉ét❡r♠✐♥❡r ❧❡ ♥♦♠❜r❡

♠♦②❡♥ 〈mD〉 ❞❡ ♣❤♦t♦♥s ❞ét❡❝tés ♣❡♥❞❛♥t ✉♥ t❡♠♣s t ❡t s♦♥ é❝❛rt✲t②♣❡ ∆mD =
√

〈m2
D〉 − 〈mD〉2✳

Q51. ❉ét❡r♠✐♥❡r ❧❛ s❡♥s✐❜✐❧✐té |∂ 〈mD〉 /∂hG| ❞❡ ❝❡ ❞ét❡❝t❡✉r ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s ✭❝✬❡st✲à✲❞✐r❡ ❧❛
✈❛r✐❛t✐♦♥ ❞✉ s✐❣♥❛❧ s♦rt❛♥t 〈mD〉 ♣❛r r❛♣♣♦rt ❛✉ s✐❣♥❛❧ ❡♥tr❛♥t hG✮✱ ❡♥ ❢♦♥❝t✐♦♥ ❞❡s ♠ê♠❡s ♣❛r❛♠ètr❡s✳
❉❛♥s ❧❛ ❧✐♠✐t❡ hG → 0✱ ♣♦✉r q✉❡❧❧❡ ✈❛❧❡✉r θ1 ❞❡ θ ❝❡tt❡ s❡♥s✐❜✐❧✐té ❡st✲❡❧❧❡ ♠❛①✐♠❛❧❡ ❄ ◗✉❡ ✈❛✉t ❛❧♦rs
〈mD〉 ❄
Q52. ❈❛❧❝✉❧❡r ❧❛ ❢♦♥❝t✐♦♥

1

∆mD

∣

∣

∣

∣

∂ 〈mD〉
∂hG

∣

∣

∣

∣

❡t tr♦✉✈❡r ❧❛ ✈❛❧❡✉r θ2 ❞❡ θ q✉✐ ❧❛ ♠❛①✐♠✐s❡ ❞❛♥s ❧❛ ❧✐♠✐t❡ hG → 0✳ P♦✉rq✉♦✐ ❧❡ ré❣❧❛❣❡ ♦♣t✐♠❛❧ ❞❡
❧✬✐♥t❡r❢ér♦♠ètr❡ ❝♦rr❡s♣♦♥❞✲✐❧ à θ = θ2 ♣❧✉tôt q✉✬à θ = θ1 ❄

❖♥ ✜①❡ ✉♥ t❡♠♣s ❞✬é❝❤❛♥t✐❧❧♦♥♥❛❣❡ t ❡t ♦♥ ❡✛❡❝t✉❡ ❞❡s ♠❡s✉r❡s ré♣été❡s ❞✉ ♥♦♠❜r❡ mD ♣♦✉r ❡♥ ❞é❞✉✐r❡
hG✳ P✉✐sq✉❡ mD ✢✉❝t✉❡✱ ❧✬❡st✐♠❛t✐♦♥ ❞❡ hG à ❝❤❛q✉❡ ♠❡s✉r❡ ✢✉❝t✉❡ é❣❛❧❡♠❡♥t✳ ▲❛ r❡❧❛t✐♦♥ r❡❧✐❛♥t mD

❡t hG ❡st ❧❛ ♠ê♠❡ q✉❡ ❝❡❧❧❡ q✉✐ r❡❧✐❡ 〈mD〉 ❡t hG ❝❛❧❝✉❧é❡ ❞❛♥s ❧❛ q✉❡st✐♦♥ ✺✵✳
❉❛♥s ❧❛ s✉✐t❡ ♦♥ s✉♣♣♦s❡ q✉❡ ❧✬♦♥ rè❣❧❡ ❧✬✐♥t❡r❢ér♦♠ètr❡ s✉r θ = 0✱ q✉❡ mD ≫ 1 ❡t q✉❡ ❧❡ s✐❣♥❛❧ ❣r❛✈✐t❛✲
t✐♦♥♥❡❧ ✈ér✐✜❡ 0 < hGL0/λ ≪ 1✳

Q53. ❉é✈❡❧♦♣♣❡r ❧❛ r❡❧❛t✐♦♥ ❝❛❧❝✉❧é❡ ❞❛♥s ❧❛ q✉❡st✐♦♥ ✺✵ à ❧✬♦r❞r❡ ❧❡ ♣❧✉s ❜❛s ♥♦♥ ♥✉❧ ❡♥ hG ❡t ❧✬✐♥✈❡rs❡r

♣♦✉r ❡①♣r✐♠❡r hG ❡♥ ❢♦♥❝t✐♦♥ ❞❡ mD✱ ♣✉✐s ❞ét❡r♠✐♥❡r ❧✬é❝❛rt✲t②♣❡ ∆h
(D)
G ❞❡ hG ❞û ❛✉ ❜r✉✐t ❞❡ ❣r❡♥❛✐❧❧❡✳

✸✳✷ ❋❧✉❝t✉❛t✐♦♥s ❞❡ ❧❛ ♣r❡ss✐♦♥ ❞❡ r❛❞✐❛t✐♦♥

◆♦✉s ✈❡♥♦♥s ❞❡ ♠♦♥tr❡r q✉❡ ❧❡ ❜r✉✐t ❞❡ ❣r❡♥❛✐❧❧❡ ❞❡s ♣❤♦t♦♥s s✉r ❧❡ ❞ét❡❝t❡✉r ♦♣t✐q✉❡ ❝♦♥❞✉✐t à ✉♥❡
✐♥❝❡rt✐t✉❞❡ ∆h

(D)
G s✉r ❧❛ ♠❡s✉r❡ ❞❡ ❧✬❛♠♣❧✐t✉❞❡ hG ❞❡ ❧✬♦♥❞❡ ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡ ❡✛❡❝t✉é❡ ❡♥tr❡ ❧❡s ✐♥st❛♥ts

t0 ❡t t0 + t✳ ❈❡♣❡♥❞❛♥t✱ ❧❡ ❜r✉✐t P♦✐ss♦♥♥✐❡♥ ❞❡s ♣❤♦t♦♥s ♣r♦❞✉✐t ✉♥ ❛✉tr❡ ❡✛❡t ♣❤②s✐q✉❡ s✉r ❧❡s ♠✐r♦✐rs
❞❡ ❧✬✐♥t❡r❢ér♦♠ètr❡✱ ❝♦♥❞✉✐s❛♥t à ✉♥❡ ✐♥❝❡rt✐t✉❞❡ s✉♣♣❧é♠❡♥t❛✐r❡ s✉r ❧❛ ♠❡s✉r❡ ❞❡ hG✳ ◆♦✉s ❛❧❧♦♥s ♣♦✉r
❝❡❧❛ r❡❣❛r❞❡r ❝❡ q✉✐ s✬❡st ♣❛ssé ❛✈❛♥t ❧❛ ♠❡s✉r❡✱ ❡♥tr❡ ❧❡s ✐♥st❛♥ts t0− t ❡t t0✱ ❡t ❝♦♥s✐❞ér❡r ❧❡s ♥♦♠❜r❡s ❞❡
♣❤♦t♦♥s mx ❡t my rétr♦ré✢é❝❤✐s ❡♥tr❡ ❝❡s ❞❡✉① ✐♥st❛♥ts ♣❛r ❧❡s ♠✐r♦✐rs ♠♦❜✐❧❡s ▼❋① ❡t ▼❋② t❡r♠✐♥❛♥t
❧❡s ❜r❛s ❞❡ ❧✬✐♥t❡r❢ér♦♠ètr❡✳

Q54. ◗✉❡ ✈❛❧❡♥t ❧❡s ♠♦②❡♥♥❡s 〈mx〉 ❡t 〈my〉 ❡t ❧❡s é❝❛rt✲t②♣❡s ∆mx ❡t ∆my ❞❡ mx ❡t my ❄ ❈♦♠♣t❡ t❡♥✉
❞❡s ❤②♣♦t❤ès❡s ❞❡ ♥♦tr❡ ♠♦❞è❧❡ ✭♥♦t❛♠♠❡♥t ❞❡ ❧❛ q✉❡st✐♦♥ ✹✼✮✱ ❧❡s ✢✉❝t✉❛t✐♦♥s st❛t✐st✐q✉❡s ❞❡ mx ❡t my

s♦♥t✲❡❧❧❡s ❝♦rré❧é❡s ❄

Q55. ◗✉❡ ✈❛✉t ❧❛ q✉❛♥t✐té ❞❡ ♠♦✉✈❡♠❡♥t ❞✬✉♥ ♣❤♦t♦♥ ❞❡ ✈❡❝t❡✉r ❞✬♦♥❞❡ ~k ❄ ▲♦rsq✉❡ ❝❡ ♣❤♦t♦♥ ❡st
rétr♦ré✢é❝❤✐ s✉r ✉♥ ♠✐r♦✐r✱ q✉❡❧❧❡ q✉❛♥t✐té ❞❡ ♠♦✉✈❡♠❡♥t ❧✉✐ tr❛♥s❢èr❡✲t✲✐❧ ❄ ◗✉❡ ✈❛✉t ❧❛ ❢♦r❝❡ ♠♦②❡♥♥❡
F ❡①❡r❝é❡ ♣❛r ❧❛ ❧✉♠✐èr❡ s✉r ❝❤❛❝✉♥ ❞❡s ♠✐r♦✐rs ❄

❈❡tt❡ ♣r❡ss✐♦♥ ❞❡ r❛❞✐❛t✐♦♥ ♠♦②❡♥♥❡✱ ❝♦♥♥✉❡✱ ❡st ❝♦♠♣❡♥sé❡ ♣❛r ✉♥ s②stè♠❡ ❞❡ ❝♦♥trô❧❡ ❡①t❡r♥❡✳ ❊♥
r❡✈❛♥❝❤❡ ❧❡s ✢✉❝t✉❛t✐♦♥s ❞❡ ❝❡tt❡ ♣r❡ss✐♦♥ ❞❡ r❛❞✐❛t✐♦♥✱ ❞✉❡s à ❝❡❧❧❡s ❞✉ ♥♦♠❜r❡ ❞❡ ♣❤♦t♦♥s✱ ❝ré❡♥t ❞❡s
❞é♣❧❛❝❡♠❡♥ts ❛❧é❛t♦✐r❡s ❞❡s ♠✐r♦✐rs✳ ❖♥ ♣♦✉rr❛ ❝♦♥s✐❞ér❡r ❞❛♥s ❧❛ s✉✐t❡ q✉❡ t♦✉t❡s ❧❡s ❢♦r❝❡s ❛✉tr❡s q✉❡
❧❡s ✢✉❝t✉❛t✐♦♥s ❞❡ ❧❛ ♣r❡ss✐♦♥ ❞❡ r❛❞✐❛t✐♦♥ s❡ ❝♦♠♣❡♥s❡♥t✳

Q56. ❉ét❡r♠✐♥❡r ❧❡s é❝❛rts✲t②♣❡s ❞❡s q✉❛♥t✐tés ❞❡ ♠♦✉✈❡♠❡♥t tr❛♥s❢éré❡s à ❝❤❛❝✉♥ ❞❡s ♠✐r♦✐rs ❡♥tr❡ ❧❡s
✐♥st❛♥ts t0 − t ❡t t0✳ ❊♥ ❢❛✐s❛♥t ✐♥t❡r✈❡♥✐r ❧❛ ♠❛ss❡ M ❞❡ ❝❤❛q✉❡ ♠✐r♦✐r✱ ❡♥ ❞é❞✉✐r❡ ❧❡s é❝❛rt✲t②♣❡s ❞❡
❧❡✉rs ✈✐t❡ss❡s✱ ♣✉✐s ❧❡s é❝❛rt✲t②♣❡s ∆Lx ❡t ∆Ly ❞❡s ❧♦♥❣✉❡✉rs Lx ❡t Ly ♠❡s✉ré❡s ✉♥ t❡♠♣s t ♣❧✉s t❛r❞✱
❡♥tr❡ t0 ❡t t0 + t✳

Q57. ❉ét❡r♠✐♥❡r ❧✬é❝❛rt✲t②♣❡ ∆(Ly−Lx) ✐♥❞✉✐t s✉r ❧❛ ❞✐✛ér❡♥❝❡ ❞❡ ♠❛r❝❤❡ Ly−Lx ❡♥tr❡ ❧❡s ❞❡✉① ❜r❛s ❞❡

❧✬✐♥t❡r❢ér♦♠ètr❡✳ ❊♥ ❞é❞✉✐r❡ ❧✬é❝❛rt✲t②♣❡ ∆h
(P )
G s✉r ❧❛ ♠❡s✉r❡ ❞❡ ❧✬❛♠♣❧✐t✉❞❡ ❞❡s ♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s

hG ❞û ❛✉① ✢✉❝t✉❛t✐♦♥s ❞❡ ❧❛ ♣r❡ss✐♦♥ ❞❡ r❛❞✐❛t✐♦♥✳

✸✳✸ ▲✐♠✐t❡ q✉❛♥t✐q✉❡ st❛♥❞❛r❞

❉❛♥s ❧❛ ♠❡s✉r❡ ♦ù ❧❡s ✢✉❝t✉❛t✐♦♥s ❞✉ ♥♦♠❜r❡ ❞❡ ♣❤♦t♦♥s à ❞✐✛ér❡♥ts ✐♥st❛♥ts ♥❡ s♦♥t ♣❛s ❝♦rré❧é❡s✱
❧✬✐♥❝❡rt✐t✉❞❡ t♦t❛❧❡ s✉r ❧❛ ♠❡s✉r❡ ❞❡ hG ❞✉❡ ❛✉ ❜r✉✐t ❞❡ ❣r❡♥❛✐❧❧❡ ❡t ❛✉① ✢✉❝t✉❛t✐♦♥s ❞❡ ❧❛ ♣r❡ss✐♦♥ ❞❡

✶✸



r❛❞✐❛t✐♦♥ ✈❛✉t

∆hG =

√

(

∆h
(D)
G

)2

+
(

∆h
(P )
G

)2

✭✸✻✮

P♦✉r ❧❡s ❛♣♣❧✐❝❛t✐♦♥s ♥✉♠ér✐q✉❡s ❞❡ ❝❡tt❡ ♣❛rt✐❡✱ ♦♥ ♣r❡♥❞r❛ λ = 1064 ♥♠ ♣♦✉r ❧❛ ❧♦♥❣✉❡✉r ❞✬♦♥❞❡ ❞✉
❧❛s❡r ❡t M = 40 ❦❣ ♣♦✉r ❧❛ ♠❛ss❡ ❞❡ ❝❤❛q✉❡ ♠✐r♦✐r✳ ▲❛ ❧♦♥❣✉❡✉r ré❡❧❧❡ ❞❡s ❜r❛s ❞❡ ❧✬✐♥t❡r❢ér♦♠ètr❡
▲■●❖ ✈❛✉t L0 = 4000 ♠✱ ❡t ❧❛ ♣✉✐ss❛♥❝❡ ❞✉ ❧❛s❡r ✈❛❧❛✐t P0 = 20 ❲ ❧♦rs ❞❡ ❧❛ ❞ét❡❝t✐♦♥ ❞✉ ♣r❡♠✐❡r
s✐❣♥❛❧ ❣r❛✈✐t❛t✐♦♥♥❡❧✳ ❈❡♣❡♥❞❛♥t✱ ❧❛ ❝♦♥✜❣✉r❛t✐♦♥ ♦♣t✐q✉❡ ❞❡ ▲■●❖ ❡st ♣❧✉s ❝♦♠♣❧❡①❡ q✉❡ ❧❡ s✐♠♣❧❡
✐♥t❡r❢ér♦♠ètr❡ ❞❡ ▼✐❝❤❡❧s♦♥ ❝♦♥s✐❞éré ✐❝✐✱ ❡t ❞❡s s②stè♠❡s ♦♣t✐q✉❡s s✉♣♣❧é♠❡♥t❛✐r❡s ♣❛rt✐❡❧❧❡♠❡♥t ❞é❝r✐ts
❞❛♥s ❧❛ ♣❛rt✐❡ ✷ ❞❡ ❝❡ ♣r♦❜❧è♠❡ ♦♥t ♣❡r♠✐s ❞✬♦❜t❡♥✐r ❞❡s ✈❛❧❡✉rs ❡✛❡❝t✐✈❡s L′

0 = 1000 ❦♠ ❡t P ′
0 = 100

❦❲✳

Q58. ❉ét❡r♠✐♥❡r ❧✬✐♥❝❡rt✐t✉❞❡ t♦t❛❧❡ ∆hG ❡♥ ❢♦♥❝t✐♦♥ ❞❡ ❧❛ ♣✉✐ss❛♥❝❡ ❞✉ ❧❛s❡r P0✱ ❞❡ s❛ ❧♦♥❣✉❡✉r ❞✬♦♥❞❡
λ✱ ❞❡ ❧❛ ❧♦♥❣✉❡✉r L0 ❞❡s rés♦♥❛t❡✉rs ♦♣t✐q✉❡s✱ ❞❡ ❧❛ ♠❛ss❡ M ❞❡s ♠✐r♦✐rs✱ ❞✉ t❡♠♣s ❞✬é❝❤❛♥t✐❧❧♦♥♥❛❣❡ t✱
❞❡ ❧❛ ✈✐t❡ss❡ ❞❡ ❧❛ ❧✉♠✐èr❡ c ❡t ❞❡ ❧❛ ❝♦♥st❛♥t❡ ❞❡ P❧❛♥❝❦ ré❞✉✐t❡ ~✳

Q59. ◗✉❡❧ t❡♠♣s ❞✬é❝❤❛♥t✐❧❧♦♥♥❛❣❡ ♠❛①✐♠❛❧ ♣❡✉t✲♦♥ ✉t✐❧✐s❡r ♣♦✉r ♠❡s✉r❡r ✉♥ s✐❣♥❛❧ ♦s❝✐❧❧❛♥t à ✉♥❡
❢réq✉❡♥❝❡ ❛❧❧❛♥t ❥✉sq✉✬à 250 ❍③ ❄ ➱✈❛❧✉❡r ∆hG ♥✉♠ér✐q✉❡♠❡♥t ❞❛♥s ❝❡ ❝❛s✱ ♣♦✉r ❧❡s ✈❛❧❡✉rs ré❡❧❧❡s L0 ❡t
P0 ✿ ❧❡ ❜r✉✐t ❡st✲✐❧ ✐♥❢ér✐❡✉r ❛✉ s✐❣♥❛❧ hG ≈ 10−21 ❄ ◗✉✬❡♥ ❡st✲✐❧ ❞✉ ❜r✉✐t ❝❛❧❝✉❧é ❛✈❡❝ ❧❡s ✈❛❧❡✉rs ❡✛❡❝t✐✈❡s
L′
0 ❡t P ′

0 ❄

Q60. ▼♦♥tr❡r q✉❡ ∆hG ❛❞♠❡t ✉♥ ♠✐♥✐♠✉♠ ❡♥ ❢♦♥❝t✐♦♥ ❞❡ ❧❛ ♣✉✐ss❛♥❝❡ P0 ❞✉ ❧❛s❡r✳ ❉♦♥♥❡r ❧✬❡①♣r❡ss✐♦♥
❞❡ ∆hG à ❝❡ ♠✐♥✐♠✉♠ ❡t ✈ér✐✜❡r q✉✬❡❧❧❡ ♥❡ ❞é♣❡♥❞ ♣❛s ❞❡s ♣❛r❛♠ètr❡s ❞✉ ❧❛s❡r✳ ◗✉❡ ✈❛✉t ❝❡tt❡ ❧✐♠✐t❡
♣♦✉r t = 1 ♠s✱ ❡♥ ♣r❡♥❛♥t ❧❛ ✈❛❧❡✉r ❡✛❡❝t✐✈❡ L′

0 ♣♦✉r ❧❛ ❧♦♥❣✉❡✉r ❞❡ ❧✬✐♥t❡r❢ér♦♠ètr❡ ❄ ▲❛ ♣✉✐ss❛♥❝❡ ❧❛s❡r
❡✛❡❝t✐✈❡ P ′

0 ❡st✲❡❧❧❡ s✉✣s❛♥t❡ ♣♦✉r ❧✬❛tt❡✐♥❞r❡ ❄

❈❡tt❡ ✐♥❝❡rt✐t✉❞❡ ♠✐♥✐♠❛❧❡ ❡st ❧❛ ❧✐♠✐t❡ q✉❛♥t✐q✉❡ st❛♥❞❛r❞ ♣♦✉r ❝❡ t②♣❡ ❞❡ ♠❡s✉r❡✳ ❈❡ ♥✬❡st ♣❛s ✉♥❡ ❧✐♠✐t❡
❢♦♥❞❛♠❡♥t❛❧❡ ✿ ❡❧❧❡ ❞é♣❡♥❞ ❞❡ ❧❛ ❝♦♥✜❣✉r❛t✐♦♥ ♦♣t✐q✉❡ ❞❡ ❧✬✐♥t❡r❢ér♦♠ètr❡✱ ♠❛✐s ❛✉ss✐ ❞❡s ét❛ts q✉❛♥t✐q✉❡s
❞❡s ❢❛✐s❝❡❛✉① q✉✐ ② ❝✐r❝✉❧❡♥t✳ ▲❡s ♥♦✉✈❡❧❧❡s ❣é♥ér❛t✐♦♥s ❞❡ ❞ét❡❝t❡✉rs ❞✬♦♥❞❡s ❣r❛✈✐t❛t✐♦♥♥❡❧❧❡s ✉t✐❧✐s❡r♦♥t
❞❡s ✐♥t❡r❢ér♦♠ètr❡s ❛✈❡❝ ❞❡s ❣é♦♠étr✐❡s ❞✐✛ér❡♥t❡s ❡t ❞❡s ét❛ts ♥♦♥✲❝❧❛ss✐q✉❡s ❞❡ ❧❛ ❧✉♠✐èr❡ ❛✈❡❝ ❞❡s
✢✉❝t✉❛t✐♦♥s q✉❛♥t✐q✉❡s ré❞✉✐t❡s ♣❛r r❛♣♣♦rt à ❝❡❧❧❡s ❞✬✉♥ ❢❛✐s❝❡❛✉ ❧❛s❡r✳

⋆ ⋆
⋆

✶✹


